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Question Number : 1 Question Id ;: 6463509728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks : (

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception
(3) Power of synthetic imagination

Options :
646350358298, 1

64635035300. 2

(2) Thinking ability
(4) Ability to relate oneself with others
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B4E35025301. 2
64635033302. 4

Question Number : 1 Question Id ;: 6463509728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Fefatad d 9§ =9 9 atftrmwar <& gt foema 27

(1)  Had TAG= £ oiFq (2) T gwar
(3) WY o Tad (4) T F TG F I GG T H AT
Options :

64635035299. 1
646350353300. 2
64635035301. 3
64635035302 4

Question Number : 2 Question Id : 6463509729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which is the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point

(2) Evaluation is used before programme design

(3) Evaluation relates o indicating learning outcome of teaching
(4) Evaluation is conducted during teaching

Options :

64635038303. 1
64635038304, 2
646350238305, 3
64635038306. 4

Question Number : 2 Question Id : 6463509729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ftatiea @ & %9 °t fAaiomars geare s forea 37
(1) T §9d T 2l

(2)  HEATHEA, FEAFA TR FH 8 Igd TR S 3
(3)  HedTHA, Trgw =1 AAftrm viomy dqi=a #4 & grai-gd 3idl gl
(4) AT g o SR R S R

Options :

64635038303. 1

64635038304, 2

646350238305, 3

64635038306. 4

Question Number : 3 Question Id : 6463509730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel (4) Edgar Dale
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ptions :

64E35038307. 1
646350358308. 2
646350353309. 3
64635035310. 4

Question Number : 3 Question Id : 6463509730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fEregor it © Helfda “argva 1 T i FoRae wEqa R ?

(1) SIEFAEI] (2) ﬁ-?rﬁﬁﬁ
(3) HEd (4) TSR A
Options :

64635033307. 1
646350358308. 2
646350353309. 3
64635035310. 4

Question Number : 4 Question Id : 6463509731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology (4) Psychology
Options :

64635035311. 1
646350358312. 2
64635035313. 3
64635035314. 4

Question Number : 4 Question Id : 6463509731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T8 A=A7 97 Forad ste aftrmrial g9 wrifat % oy | it wegh, 9w I oot W
I fom e 7, Fefafas 9 @ 541 wgaar 27

1) g (2) Ugrist
(3) Ffam= (4) T
Options :

64635035311. 1
646350358312. 2
64635035313. 3
64635035314, 4

Question Number : 5 Question Id : 6463509732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which among the following 1s a non-cognitive characteristic of learner?

(1) Recalling (2) Problem solving
(3) Identifving important sensory inputs (4) Believing whatis true

Options :
646350356315. 1

64635035316. 2
646350358317. 3
646350353183. 4

Question Number : § Question Id : 6463509732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frafaiiad O & =9 © ATl =l R-TIHTe fa9ga 27

(1) T (2) FELAT I
(3)  HETY Heldl ATl <l T FE (4) FA U fogEd =
Options :

646355035315. 1
64635035316. 2
64635035317. 3
64635035313. 4

Question Number : 6 Question Id : 6463509733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research

(2) Intervention based action research

(3) Phenomenalogical and narrative research

(4) Case study research

Options :
64635038319, 1

64635035320. 2
64635035321. 3
B4E350358322. 4

Question Number : 6 Question Id : 6463509733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fratatag ® 9 == 9 3y oy siemen g I e Road o 27

(1)  WIFToHF N FATca Ty
(2) 98T AYTHRG feraTars =y
(3) 539 O a9 IR gag T Y

(4) e FeTI= oy
Options :
64635038319. 1
64635038320. 2
64635038321. 3
64635038322. 4

Question Number : 7 Question Id : 6463509734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following action sets best represent an action research cyele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act (4) Act, plan, observe and reflect
Options :

64635035323. 1
64635035324 2
646350358325. 3
64E3503832€6. 4

Question Number : 7 Question Id : 6463509734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fratafas 9§ @ =19 91 Gra s GRras Y =% %1 93 e 32

(1)  Torm, Tenfata, T AR aaue (2) TieFn, T, sEate o f5a
(3)  FadiHA, Ih=m, e IR et (4) TraTieafd, Ti=mr, i JR =

Options :

64635038323. 1
64635038324, 2
64635038325, 3

64635038326, 4

Question Number : 8 Question Id : 6463509735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is the main feature of qualitative research?
(1) Avolds positivist assumptions and data analysis
(2) Subseribes to pre-existing categories
(3) Collects data in numeriecal form
(4) Uses empirical method of data analysis

Options :
64635038327. 1
64635038328, 2
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64635033329, 3

64635035330. 4

Question Number : § Question Id ;: 6463509735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
feifora | @ <91 51 o= T < yaE fafised 272
(1)  faermers @iger R g faves w1 e +@ 2
(2 1 Tz Afin @ genfy orw w@ R
(3) TEATHS TY H S o 9UT 74T 2
()  wEcd fagagm <t argafass fafl =1 v =@ 2
Options :
64635038327, 1
646350383258, 2
64635038329, 3
646350383230, 4

Question Number : 9 Question Id : 6463509736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A good review of research literature aims at
(1) Subjective analysis of the content
(2) Provides mformation about the authors and their affilhations

(3) Generates research questions and validating those questions
(4) Conduets multiple task based screening

Options :

64635038321, 1
64635038332, 2
64635038333, 3
64635038324, 4

Question Number : 9 Question Id : 6463509736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

TY-giiect F TF A= FHIGT F I57T B 2

(1) Taggacq =1 safqatase fEves e

(2) e IR FF gAYl & g H T NGH F1
(3) Y NI F Yo F1 A T dgar T
(4)  wg-wd AT vhgT w5

Options :
64635033331, 1

646350358332. 2
64635035333. 3
64635035334. 4

Question Number : 10 Question Id : 6463509737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis

{2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options :
64635038335, 1

64635035336. 2
64635038337. 3
64635035333, 4

Question Number : 10 Question Id : 6463509737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T IERAl 0 W § Y7 Tieeer Bt AR 7 ° e wa 31 Sush gw e viekesn % fae
T T THfgard e

(1) Y IieReTr s S s am

(2) Y TTEReT i AR

(3) Y Tieker W =is i =3 <)

(4 Y YRR | YT FE)

Options :
64635038335, 1

64635035336. 2
646350358337. 3
646350353338. 4

Sub-Section Number: 2
Sub-Section Id: 646350462
Question Shuffling Allowed : Yes

Question Id : 6463509738 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label | Comprehension



WWW.prepp.in .repp

Your Personal Exams Guide
Read the following passage and answer questions:

There 1s a common thread running through the unravellng of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a countrv with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical. Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is alwavs questioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical commission. These institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indieator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 6463509739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What 1s important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
{(3) Unravelling of statistical system
(4) Selective distribution of data

Options :

6463503833%5. 1
646350238340. 2
64635038341, 3
64635038342, 4

Question Number : 12 Question Id : 6463509740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity (4) Establishment of national institutions
Options :

64635035343. 1
64635035344. 2
64635035345. 3
64635035346, 4

Question Number : 13 Question Id : 6463509741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) Questioning official narrative (4) Supporting the public perception
Options :

64635035347. 1
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B4E35035348. 2
64635035349. 3
646350353350. 4

Question Number : 14 Question Id : 6463509742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How can the quality of national policies be improved?

(1) By lLiving reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options :
64635038351. 1
64635038352 2
64635038353. 3
64635038354. 4

Question Number : 15 Question Id : 6463509743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What does the passage ultimately suggest to National Statistical Commission?

(1) Restrieting policy decisions
(2) Critically examining data veracity
(3) otick to a calendar of data dissemination

(4) Support development in core sectors
Options :

64635038355, 1

64635038356. 2

64635038357, 2

64635038358, 4

Question Id : 6463509738 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers ; (11 to 15)
Question Label : CDmpI'EhEHSiGH
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Rl e 9 ST TR o T % e AR

WA 1 FETHT T & EIgHTed H TF -4 e Jfafost 3| Gge Twes ardl e
FrefsgayT <61 e 9% T & FF oo fveg st 99 W 90 559 91 3| ©F SRR i+
o s=mraafeRs enem A sTavaww gt 7 AT e F Tam + g5 oy geet ol = gafem
F0 | gAA FT AGF T IS W 7 T e gadt e oy i, s, TR, faa o
TR S 0 &5 ¥ Hared g Jgaget g | g8l 9 Faiia w6 % fow rien e e e, o<
TIEEH! AT 61 qERR T ATt 3| 2Afhg 61 T T Teg 8 & Aivae ThH 2| SATfeshies o
T foge = @ g gHe Hg sued TR srar 31 Sl T s @ gl gt @y S g, 99 9
A ofiwrgl it T gHvw +0 % v 95 e 31 ofiwe i =9 Ty it A Een =@
TTope &9 H JATIT il | AT 1 -ard Aeaeh! AT A&t serefl sl ¥gg +0 I1ee| 3 TEnad &t
W YA 6 T =Y AR 5% oY oET O S= Inhe| A6 YREiei Wigad 9 R i
(e TATwt | NerTaloTer TaTgeTal 1 Uk Ui 6l 9 area § T 3 miheiia T W s 5
STt X, AR Sk A A @i 7

Sub questions

Question Number : 11 Question Id : 6463509739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AT IRSTTT < ToT 47 Hgea g &7
(1) Tk T =R

(2) Tavagda wfwst =t S o =
(3)  TIEFHT Tell I THIPRT

(4)  JATeRsl = FFATHF farae

Options :
646350358335. 1

B4E350235340. 2
64635035341. 3
64635035342, 4

Question Number : 12 Question Id : 6463509740 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

e ga4] oy Jarfea 3d 8

(1) I sHEE (2) T farwrg

(3)  HATkEl H T UG (4) TS FRAT <hl =ATTAT
Options :

646355035343. 1
64635035344. 2
64635035345. 3
64635035346. 4

Question Number : 13 Question Id : 6463509741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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USE ISkl JATHIT =1 AT 1 27

(1) == fgita +6 0 (2) TR ol Tl T Heg F
(3)  ATYHITE aFded] T Heg I (4) SR H U AT
Options :

64635035347. 1
B4E35028345. 2
64635035349. 3
64635035350. 4

Question Number : 14 Question Id : 6463509742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
TsEr feat < oEca § 8 QR R ST e 37

(1) = TR T AT FH

(2) 9T TEAGTl 1 TR FAF

(3) g S T AT F6H|

(4)  HATYHF TFATHS EaTd Yo+

Options :
64635038351, 1

646350358352 2
64635035353. 3
64E35025354. 4

Question Number : 15 Question Id : 6463509743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
I0Fd TR § USE WIfeTshg ATINT S Aida: F41 gaa feam w22

(1)  Hifera fefal W afwy s

(2)  ATHSl S T I THIGTHS = =T
(3)  AToe TFaEl Tl &L & TTa- &

(49 "= & F faewg W gees w5

Options :

64635038355, 1
64635038356. 2
64635038357, 3
64635038358, 4

Sub-Section Number: 3
Sub-Section Id: 646350463
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 6463509744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Assertion (A) : The correlation funetion of mass media is vital for any society.
Reasons (R) : The interpretational aspects that include advertising and public relations

shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :
(1) Both (A) and (R) are true, and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false
(4) (A) 1s false, but (R) 1= true

Options :

64635038359, 1

64635038360. 2

64635038361, 3

64635038362, 4

Question Number : 16 Question Id : 6463509744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AT (A)- TR 1 TEaTe ST R H T % T mgeagt g |

GES (R)- warEare Ugq, foe foare ofit <= Twd wiEe §, smar 19 o § e s
AT+ 3
d= feu Tu ferew € wd S &1 99

(D @R ® T TG T R), (A)F TG =

@ @3 ®) I w2, feg ®), Q)R wd owren 7 2
@ @R, g ®) T 2

4 @7, g R) w2

Options :
64635038359, 1

646350358360. 2
64635035361. 3
64635035362, 4

Question Number : 17 Question Id : 6463509745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Some of the barriers to effective communication are

(a) Polyvsemy

(b) Simple language

{c) Use of Cliche’s

(d) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a) and (b) (2) () and (¢)
(3) (9 and(d) (4) (a)and (o)



WWW.prepp.in .repp

Obti Your Personal Exams Guide
ptions :

64E350383€3. 1
64635035364. 2
64635035365. 3
64635035366. 4

Question Number : 17 Question Id : 6463509745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
STt TS < ST s F)

(a)  g-JEF
(b) WA 9
(¢)  TusaifEa =1 39

(d) AT B ATET AT

A= Teu 0 F2 8 WE Scat 1 =9 )

(1) (I D) (2) (b) 3R (©)

(3 (@I 4 () IR
Options :

646350338363. 1
B4E35025364. 2
646350353365. 3
646350353366. 4

Question Number : 18 Question Id ; 6463509746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

In a classroom, use of communieation technology pre-supposes

(1) Inattentive audience
(2) Luxurious ambience
(3) Extrapolation of contents
(4) New forms of expression and applications
Options :
64635038367, 1
64635038368, 2
64E35038363. 2
64635038370. 4

Question Number : 1§ Question Id : 6463509746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et eT ® T= e o I o iEd 9red g @ -

(1)  JAIGTF ATHEF

(2)  ARHGTE &

(3)  farwrayg w AfeT

(4  FRPAFIE JR AT o 90 F1

Options :
64635038367, 1

646350353638. 2
B4E35028368. 3
64635035370. 4

Question Number : 19 Question Id : 6463509747 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation (4) general academic integration
Options :

646350358371. 1
B4E35038372. 2
646350358373. 3
64635035374, 4

Question Number : 19 Question Id : 6463509747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
w1 # Toret forfime sertern o foqu @ <t 718 fererereg =1 wiomm i

1) oIS (2) Torvereg T
(3)  dgFdrE (4) TTHIE eRIE HF Tl
Options :

64635035371 1
64635038372. 2
646350358373. 3
64635035374, 4

Question Number : 20 Question Id : 6463509748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sequential order of elements In classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, Interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge. evaluation, awareness

Options :
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64635033375, 1

646350358376. 2
646350338377. 3
6463503583738 4

Question Number : 20 Question Id : 6463509748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FYNTT G499 = qoA] 1 TG F0 3 -

(1)  FF, T, GeATHA, Sl

(2)  STEwdl, T, TedATH, TH

(3)  HEAIHA, ATkl T, T
(4) ¥, TH, HeATHA, STEF
Options :
64635036375, 1
64635036376, 2

64635038377. 3
64635038373, 4

Question Number : 21 Question Id : 6463509749 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options :

646350358379. 1
64635035380. 2
64635035381. 3
B4E350235382. 4

Question Number : 21 Question Id : 6463509749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fratafad d @ g=ga = W H=
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PEQ
Options :

646350358379. 1
64635035380. 2
64635035381. 3
64635035382 4
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Question Number : 22 Question Id : 6463509750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

If the number 342xy is divisible by 90, then {(x + y) =?

(I 9© (2) 8
@ 7 (4) 6
Options :

64E35038385. 1
64635035384. 2
646350358385. 3
64635035356. 4

Question Number : 22 Question Id : 6463509750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
I, T&T 3daxy O gU TAa=a 3, @ (x+ ) =2

)y 2 (2) 8
3 7 (4) 6
Options :

646350358383. 1
64635035384. 2
64635035385. 3
64635035356. 4

Question Number : 23 Question Id : 6463509751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
On a map, 1 inch represents 250 miles. What is the actual distance between two cities if they

are 4% Inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options :

6463550358387. 1
646350353838. 2
646350358389. 3
64635035390. 4

Question Number : 23 Question Id : 6463509751 (Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Pt ST T 1 491 250 W1 1 seff wn 31 af 5w e v g el A A g 47 R

I 1=l =] ATEdfarsh g0 F41 g 7

(1) 1100 ™= (2) 1125
(3) 1150w (4) 1200 H<
Options :

646350358387. 1
646350353838. 2
64635035389. 3
64635035390. 4

Question Number : 24 Question Id : 6463509752 Question Type : MCQ Option Shuoffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If 60% of (a—b)=40% of («¢+b), then what percent of @ is b?

(1)  20% (2) 25%
(3)  40% (4) 50%
Options :

646550353391. 1
646350358392 2
B4E35038392. 3
64635035394, 4

Question Number : 24 Question Id : 6463509752 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
afe (a—b) F1 60%=40% =il (a+5) 8, 9 a 1 b Tora Niawra g 2

(1) 20% (2) 25%
(3) 40% (4) 50%
Options :

64635035331. 1
646350358392, 2
64635035383. 3
B4E35025394. 4

Question Number : 25 Question Id : 6463509753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What will be the ratio of simple interest earned by certain amount at the same rate of
interest for 9 yvears and that for 12 years?

(1) 3:4 (2) 2:3
(3) 4:3 (4) Data inadequate
Options :

646350353395. 1
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646350338396, 2

64635035397. 3
646350353938. 4

Question Number : 25 Question Id : 6463509753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fordt U3 W 9 9 IR 12 99 & 90 U 90 =41= &€ § 1fSfa 919w =471 &1 (97d 47 T ¢

(1) 3:4 (2) 928
(3) 4:3 (4) FFe Iyafeg 7
Options :

64E550358395. 1
64635035396. 2
646350358397. 3
64635035393, 4

Question Number : 26 Question Id : 6463509754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘All Judges are fairminded is an example of proposition.

(1) Universal affirmative (2) Universal negative

(3) Particular affirmative (4) Particular negative
Options :

64635035399. 1
64635035400. 2
64635035401. 3
64635035402 4

Question Number : 26 Question Id : 6463509754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘gt AT vy € I7 9% T IIE B

(1)  HEdY fagy (2) TEYg fy

(3) fafime faga (4) Tafime g
Options :

64635035399. 1
64635035400. 2
64635035401. 3
64635035402, 4

Question Number : 27 Question Id : 6463509755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogiecal
Options :

64655035403. 1
64635035404. 2
64635035405. 3
64635035406. 4

Question Number : 27 Question Id : 6463509755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 |
frrterfiaa form afFagl & “snam arer IR o = &9 =t wey giar 3 98 @i Afarda 1 grar 3 7

(1)  ATHATE (2) TrmareT=
(3) TrEATE= (4) TEALTH
Options :

64635035403. 1
64635035404, 2
64635035405. 3
B4E35025406. 4

Question Number : 28 Question Id : 6463509756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E 1s to the left
of D. C1is between A and B. F is between E and A. Who 1s to the right of C?

() A (2) B
(3) D (4) E
Options :

64635035407. 1
6463503540838. 2
64635035403. 3
64635035410. 4

Question Number : 28 Question Id : 6463509756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
9 A, B, C. D, E 3R F U oig a9 H 37 i A 2@d g A6 3| E, D it orff i 3| €, A o+
FEH3 FEINAFTITE CH A INFTZ?

1)y A (2) B
3) D (4) E
Options :

64E35038407. 1
64635038408. 2
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64635033409, 3

64635035410. 4

Question Number : 29 Question Id : 6463509757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Inference {anumana) in Indian Logic 1s rooted in

(1) variable relation between minor term and major term

(2) mvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term
@) invariable concomitance between middle term and major term

Options :

64635035411, 1
64635038412 2
64635035413. 3
64635038414. 4

Question Number : 29 Question Id : 6463509757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
A R H 99 o 0E 2

(1) 7o 7 IR 0&F ve & == 7iEdf 9ay

(2) Tl Te AL MUME * H AGdl 9ag

(3) TEEdl Ve IR BT Ve % Fi viEd agatddl
(4)  TEIEd T2 IR UTT TE F A9 AviEd geatdan

Options :

646350338411. 1
646350238412, 2
64635038413, 3
64635038414, 4

Question Number : 30 Question Id : 6463509758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A B, C D, E and F are six members in a family in which there are two married couples.
E, a teacher 15 married to the doctor who is the mother of C and F. B, the layer is married to

A_ A has one son and one grandson. Of the two married ladies one is a housewife. There is
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather (2) Mother
(3) Sister (4) Grandmother
Options :

646355035415. 1
64635035416. 2
64635035417. 3
646350354183. 4
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Question Number : 30 Question Id : 6463509758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T TER H A, B, C. D, E 3R F ©: 952 3 fwd @ 9t fanfaq <afa 3 E =t v fig= 2, =1 fame
TFA T EN AN CINFAM BN T I I F TR AT TN AFT EHIARNTHE MR T
feranfeanfearati 4 @ ek g 3) THEm § ook fammefl ot v wo9 SSifer d 3) A C 8 971 9ay g7

1) & (2) 9ra
(3) gl (4) =
Options :

64635035415. 1
64635035416. 2
646355035417. 3
646350354138. 4

Sub-Section Number: 4
Sub-Section Id: 646350464
Question Shuffling Allowed : Yes

Question Id : 6463509759 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school according to the marks obtained by them. There 1s a total of 45 students in each of the
sections A and B. Answer the questions based on the data contained in the table :

Marks obtained by students

Marks Number of students in
n class mterval Section — A Section — B

[0-9] 2 4

[10 —19] D D

[20 — 29] 10 9

[30 — 39] 4 4

[40 — 49] 8 T

[60 — 59] 4 5

[60 — 69] T B

[70 — 79] D 6

Sub questions

Question Number : 31 Question Id : 6463509760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If the pass mark is 30, what is the number of failures in both the sections together?

(1) 43 (2) 35
(3) 16 (4) 26
Options :

64635035419. 1
64635035420. 2
64635035421. 3
64635035422, 4
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Question Number : 32 Question Id : 6463509761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

If the pass mark i1s 40, approximately what i1s the percentage of successful students in

Section — B?

(1) 48% (2) o1%

(3) 50% (4) 47%
Options :

646350358423. 1
64635035424. 2
64635035425, 3
64635035426, 4

Question Number : 33 Question Id : 6463509762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many students in Section — A and Section — B together have obtained marks less

than 107?
(1) 10 {2y 11
(3 12 (4) 6
Options :

64635033427. 1
B4E35028428. 2
64635035429. 3
64635035430. 4

Question Number : 34 Question Id : 6463509763 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

How many students in Section — A have obtained 30 or more marks but less than 507?

1) 12 (2) 14
(3) 10 (4) 13
Options :

64655035431. 1
646350358432. 2
64635035433. 3
64635035434. 4

Question Number : 35 Question Id : 6463509764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options :

64635035435. 1
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646350338436, 2

64635035437. 3
64635035433. 4

Question Id : 6463509759 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehensi-:}n

terfera arfersm =it ferenfelai =61 srea or=l & IgaR faemaa o & dair A 3R B o f=nRiai = fawm =t
3l 3 s davq A 3R B o 5 45 o= 3| arias o 16U U sl & IR R WgAl # 3 i)

[0-9] 2 4
[10-19] 5 5
[20-29] 10 9
30-39] 4 4
[40-49] 8 7
[50-59] 4 5
60—69] 7 5
[70-79] 5 6

Sub questions

Question Number : 31 Question Id : 6463509760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
afe st 30 2, 9 2 SeAl | argdd farenfeial v g e 27

(1) 43 (2) 35
3) 16 (4) 26
Options :

64635035419. 1
64635035420. 2
64635035421. 3
B4E350358422. 4

Question Number : 32 Question Id : 6463509761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tfe, U 40 3 O T B ° 19 314 ot Teranifera) =1 Sraed o Toham 37

(1) 48% (2) 51%
(3) 20% (4) 47%
Options :

64635035423. 1
64635035424, 2
64635035425. 3
64635035426. 4
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Question Number : 33 Question Id : 6463509762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HFH - A I EFH - B a4 ¥ Toray faznfeit 5 10 ¥ %9 3+ Wea fou?

(1) 10 (2 11
3 12 (4) 6
Options :

646350358427. 1
646350358428. 2
64635035429. 3
64E350258420. 4

Question Number : 34 Question Id : 6463509763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
faeH - A H o famniat 3 30 =1 writes oie fofg 50 9 &0 o1 Wiwa oRU 32

(1) 12 (2) 14
() 10 (4 13
Options :

64655035431. 1
646350358432. 2
64635035433. 3
64635035434. 4

Question Number : 35 Question Id : 6463509764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T - A A FFH - B T Torar fer=nRfat 3 50 a1 50 & After o1+ wiea fovu?

() 23 (2) 43
(3) 32 (4) 34
Options :

64E35038435. 1
64635035436. 2
64635035437. 3
64635035433, 4

Sub-Section Number: 5
Sub-Section Id: 646350465
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6463509765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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While sending an e-mail to differentiate among To : , Ce - and Bee : fields, which one of the
following statements i1s True?

(1) Recipients m the To : field can see the email addresses that are in the Bee : and Ce :

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To : and Bec :
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To: and Ce :
fields

(4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options :
64635035843%5. 1

64635035440. 2
64635035441. 3
64635035442, 4

Question Number : 36 Question Id : 6463509765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T = 09 9id 99 To -, Ce - X Bee - %ivel 8 fave +1 & T84 ¥ f=fafias =0 § 8 S9-971 98
L

(1)  To:hics ¥ Wrawdl Bee : 3 Ce : Hivel # =i 3 T4 &l 4@ T4 2
(2) Ce : e T Wtashdl To : A Bee : Fivel O =20 36 T4l = <@ Td 3
(3) Bee : Hies H Wcaswal To : A1 Ce : Hiosl # =M s6a T4l =t 2@ T=d 3|
(4) Ce : oS T FAd WTvdeshdi Bee - o B 38 30 Tdi o ¢ Td 3

Options :
64635038439, 1

64635035440. 2
64635035441. 3
64E35025442. 4

Question Number : 37 Question Id : 6463509766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A group’s access to digital technology and another group's lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web nequality
(3) Technological imbalance (4) Digital divide
Options :

64635035443. 1
64635035444, 2
64635035445. 3
64635035446. 4

Question Number : 37 Question Id : 6463509766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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g 9 fefew e ) SreR o get e e e @ o e S @ 98

#1 =l 3

(1) T JFUHd (2) 9 AT

(3) WENRERE IrEgad (4) fhrea faa=m
Options :

64635035443. 1
64635035444. 2
646355035445. 3
64635035446. 4

Question Number : 38 Question Id : 6463509767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In internet terminology, what does the acronvm WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options :
64635038447. 1
646350384483 2
64635038443. 3
64635038450. 4

Question Number : 38 Question Id : 6463509767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
3L T OIS IEeadt | Tav Ime WYSIWYG & 3 giar 27

(1) =WRIAFFARRELI (2) WRIFA TR LR
(3) TWLH FRI LT (4) Y H TR YL
Options :

64635035447. 1
64635035443. 2
64635035449. 3
64635035450, 4

Question Number : 39 Question Id : 6463509768 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Software that you can download for free, but have to payv to continue its use after a trial
period is called

(1) public domain software (2) freeware
(3) open-source software (4) shareware
Options :

64635035451. 1
646350358452 2
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B4E350358452. 3
64635038454. 4

Question Number : 39 Question Id : 6463509768 (Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
airea, 5@ Ay f-Iew Sredis U 9hd 2, Tohd OFa @iy = Ty=imq $6eR ST A @A o fau

AT PTAH FA TSd 3, THH F5d 3 -

(1)  Tfsds SEF FFEI (2) WHEE

(3)  AMI-TIE FTFATT (4) AT
Options :

64E550538451. 1
646350358452 2
646350358453. 3
64635035454, 4

Question Number : 40 Question Id : 6463509769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following computer components is fastest in terms of speed of access?

(1) USB Drive (2) Solid State Drive
(3) RAM (4) Hard Disk Drive
Options :

64635035455. 1
64635035456. 2
646350358457. 3
64635035453, 4

Question Number : 40 Question Id : 6463509769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefatiad Froex Juesh | 8 H-91 75 1fd H 3t § Fad ga 2

(1) A ga (2) Hifds W gr=A
(3) W (Imuwm) 4 € o= gz
Options :

64635038455, 1
64635035456. 2
64635035457. 3
64635035458. 4

Question Number : 41 Question Id : 6463509770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options :

64655035459. 1
64635033460. 2
B4E350354€1. 3
64635035462, 4

Question Number : 41 Question Id : 6463509770 (Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
ot +20 X 1 U HEF TR0 ohae T==d I T &6 91 :

(1) g fawg 9@ (2) TeEifes fawg a&
3) T TRy T (4) USEH gftr TR WA
Options :

6463503545%9. 1
646350353460. 2
646350353461. 3
64635035462, 4

Question Number : 42 Question Id : 6463509771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 2005 (2) 2000 -2015
(3) 2005 - 2010 (4) 2000 - 2012
Options :

646350358463. 1
64635035464, 2
64635035465. 3
64635035466. 4

Question Number : 42 Question Id : 6463509771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ggarse A &g o FA=a = GHg-HH 94 B

(1) 2000 - 2005 (2) 2000 - 2015
(3) 2005 - 2010 (4) 2010 - 2020
Options :

64635038463, 1
64635035464, 2
64635035465. 3
64635035466. 4
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Question Number : 43 Question Id : 6463509772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2) Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options :

64635033467. 1
646350354638, 2
64635035469. 3
64635035470. 4

Question Number : 43 Question Id : 6463509772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fFrafafiaa § 2 g STaiTg s i <t s=9iy 3-6 w6 3t 2

(1) = s (2) IZ-TEEIfad I GUigds
(3)  Tire st (4) Tfad <4 guigds
Options :

64635033467. 1
646350334638. 2
646350353469. 3
64635035470. 4

Question Number : 44 Question Id : 6463509773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matier
Options :

6463550358471. 1
646350358472. 2
64635035473. 3
64635035474. 4

Question Number : 44 Question Id : 6463509773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ATk Fidl i fergrgar grdt 2l

(1) T F T IR (@) TTH w e
(3) TR F AAE (4) A= T o I TR
Options :

646350358471. 1
646350358472, 2
646350358473. 3
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64635028474, 4

Question Number : 45 Question Id : 6463509774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

With inerease in temperature, the dissolved oxygen content in a water body

(1) decreases

(2) ncreases

(3) remain constant

(4_) may increase or decrease depending on the temperature range

Options :
64635038475, 1

64635035476. 2
646350358477. 3
646350358473, 4

Question Number : 45 Question Id : 6463509774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT | gig % e Fd e | et sifegea o

(1) =A@
(2) FeEa
3 TRz

(9  dTHFE TUE % IR FEd I 9 3
Options :
64635038475. 1
64635038476. 2
64635038477. 3
64635023475, 4

Question Number : 46 Question Id : 6463509775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The constitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1)  Article 30(1) (2) Article 29
(3)  Article 33 (4) Article 16(2)
Options :

6463550358479. 1
64635035480. 2
64635035481. 3
64635035482 4

Question Number : 46 Question Id : 6463509775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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IR o GG A AcTHETH! g0 AT THE hl NGIF HRIH TG T o AT H 3764 F4dT 3

(1) =1 30(1) (2) ¥F=e 29
(3)  ¥IT=IE 33 (4) IT=E 16(2)
Options :

646350358479. 1
64635035480. 2
64635035481. 3
64635035482 4

Question Number : 47 Question Id : 6463509776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness Models

Options :

64635038433. 1

64635038424, 2

64635038435. 3

646350308436. 4

Question Number : 47 Question Id : 6463509776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T TS TATS U (W) W 9 R

(1) T2t dvs ATF WFEH-AHT Bt AT T 77559
(2)  TZE AsH ATE Wferea -1 BT I TETAT0T ATSEd
(3) T Fos ATH UFH-AMT BIL I el UTE-eq
(4) T 359 ATE UFea-ai-n B I IJEaTEY AT5-e8

Options :
646350358435. 1

64635035484. 2
646350353485. 3
64635035456. 4

Question Number : 4§ Question Id : 6463509777 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Which one of the following is an educational FM radio network?

(1) Gyan Darshan (2Z) Gyan Vani
(3) Gvan Dhara (4) GIAN
Options :

646350358487. 1
6463503534838. 2
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64635038489, 3

64635035490. 4

Question Number : 4§ Question Id : 6463509777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Fefafeaa § 8 F9-T1 Qe v W T3 S 37

(1) FHTEA (2) == arht
(3) FAEW (49 shamTw
Options :

646350353487. 1
6463503534838. 2
646355035489. 3
64E35025490. 4

Question Number : 49 Question Id : 6463509778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following reports addressed the academie, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options :

64635038491, 1

64635038492, 2

646350384983, 3

64635038494, 4

Question Number : 49 Question Id : 6463509778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
freafafag afaael @ & forae Ty womet =t ARG, go-i=h A e Taena & geEityq fF e

(1) T 37 2redy A% < TR T (1965)

(2)  TOUE 31w Ifaiid TR FHITH (1948-49)
(3) T2 T (1944)
(4) T AR TR (1929)

Options :

64635038491. 1

64635038492, 2

646350354393. 3
646350354394. 4

Question Number : 50 Question Id : 6463509779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

During which yvear the present system of affiliation of colleges to the Universities was

mtroduced in India?

(1) 1857 (Z) 1948
(3) 19286 (4) 1966
Options :

646350354395. 1
64635035436. 2
64635035437. 3
646350354938, 4

Question Number : 50 Question Id : 6463509779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
W # ETiarEmedl i fargaieraredt 8 grgdr o wH STl TR T 1 1R

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options :

646550354395. 1
646350354396. 2
64635035497. 3
646350354938. 4

PART II Linguwistics

Section Id : 646350282
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questions to be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 646350466
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6463309780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following is NOT true about pragmatics?

1. Itis the study of speaker’s meaning

b

It recognizes what is meant when it isn’t actually said or written

Speakers (or writers) must be able to depend on alot of shared assumptions
and expectations

Lo

4. It deals with the conventional meaning conveved by use of words, phrases
and sentences of a language

Options :
64635035849%5. 1

64635033500. 2
64635035501, 3
64635038502, 4

Question Number : 51 Question Id : 6463509780 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
dora il Ry @iftes) & ot & FfiRe 4 Sl-w s et ff &2

1. g g & s 1 s
2. 39 AU & UBEA S 9l § 99 avga: 98 S a1 Rifea 8l
3. :EQSHEMHQaﬁa@tﬁ?mmqﬁgmqéMHmmmtﬂﬁhhiﬁiﬁﬂaqéhT

4. zOH foedl WYl & Yeg, Nisgug SiiX 919U & WA g it UNuite sy &1
orgE fea e 2

Options :

64635038489, 1
64635035500, 2
64635038501, 3
64635038502, 4

Question Number : 52 Question Id : 6463509781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A language system shared by a community of speakers refers to
1. langage
2. langue
3.  speech repertoire
4.  dialect

Options :

64635035503, 1
64635038504, 2
64635035505, 3
64635038506. 4

Question Number : 52 Question Id : 6463509781 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ot e TR R T 39 7 e ot Rt # @ Rl gl &7

1.

2. A

3. 9% yINEl i

4 SOHIE]
Options :

64E35038503. 1
64635033504, 2
64635033505. 3
64635035506. 4

Question Number : 53 Question Id : 6463509782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The uniformity and rapidity of first language acquisition is explained by Chomsky’s
postulate of a biologically endowed language faculty as it is considered to determine
one of the following :

1.  nature of linguistic experience
2. functions of langnage

3.  structure of words

4.  the course of acquisition

Options :

64635038507, 1
64635038508, 2
64635038509, 3
64635038510. 4

Question Number : 33 Question Id : 6463509782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TRIF HINT HWH S oS Udl daiadl &1 9! 4 viee w0 9§ Ued MG SO S WS 31 8
ifes a8 Frafifae 3 o @ Ruio s £ 8 e ghu:

1. uifd® siya ot uoha

2. U9 WeR

3. wWedl @I WeEAl

4. AT
Options :

64635033507. 1
64635033508. 2
64635035509. 3
64£35025510. 4

Question Number : 54 Question Id : 6463509783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The dance of honeybee exhibits which one of the following features?

1. Cultural transmission

2. Displacement
3.  Interchangeability
4. Duality
Options :
64635038511, 1
64635038512, 2

64635035513. 3
64635035514. 4

Question Number : 54 Question Id : 6463309783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AyAeEl & 77 A Fafed 7 § oF-9 aau vekia S e

1. Giids gy
2, R
3. eauNag-gd
4, &

Options :

64635035511. 1
646350358512, 2
64635035513. 3
64635035514. 4

Question Number : 35 Question Id : 6463509784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sets of syntagmatically related constituents are often referred to as
1.  structures

2. functions

3. svstems

4. None of the above

Options :
64635038515, 1

64635035516. 2
646350358517. 3
646350355138. 4

Question Number : 55 Question Id : 6463509784 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



WWW.prepp.in .repp

Your Personal Exams Guide
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1. W=

2, v

3. OOl

4. STHFAFEE T
Options :

64635035515. 1
646350358516. 2
646350338517. 3
646350358518, 4

Question Number : 56 Question Id : 6463509785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Hieroglyphs have been used to write
1. old Chinese languages
2.  ancient Egvptian languages
3. old Greek languages
4. Vedic Sanskrit

Options :
64635038519, 1

64635035520. 2
64635035521. 3
646350358522, 4

Question Number : 36 Question Id : 6463509785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e o1 v Rt 5 9 T R o e w82

1. Qe

2. YT i @t Ty

3. el A e

4. ofce Upa
Options :

64635035519. 1
64635035520. 2
64635035521. 3
64635038522, 4

Question Number : 57 Question Id : 6463509786 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Identify the odd one from the list :

1. Velum

2. Hard palate

3.  Alveolar ridge
4.  Tongue

Options :

64635038523, 1
64635038524, 2
64635038525, 3
64635038526, 4

Question Number : 37 Question Id : 6463509786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Froafafae & @ srma 9t ggam Sl
1. HEOR]
2. FORTAR
3. oo Swa v
4. g
Options :

64635038523. 1
646350358524 2
646350358525. 3
B4E3503852€. 4

Question Number : 58 Question Id : 6463509787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A type of phonation in which the aryvtenoid cartilages hold the posterior end of the
vocal cords together, so that they can vibrate only at the other end is called

1.  falsetro phonation
2.  creaky voice
3.  whisper phonation

4. breathy voice

Options :

64635038527. 1
64635038528, 2
64635038529, 3
64635038530, 4

Question Number : 58 Question Id : 6463509787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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WA (BIHEF) $1 98 Wy, fH <dierH SUi 9ddl @ad $is) & WR-U% 4T B 7

G & AN & GOX BR W $91 T GD, B
1. T
2. FIweRivg &fx
3. SO wEA
4. Hfea e
Options :

646350358527. 1
64635038528. 2
64E350238529. 3
64635035530. 4

Question Number : 59 Question Id : 6463509788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The consonants whose articulation allows for a free airflow, without friction are
1.  Obstruents
2. Sonorants
3. Diphthongs

4, Glides

Options :
64635038531, 1

646350358532. 2
646350358533. 3
64635035534, 4

Question Number : 59 Question Id : 6463509788 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A o forier SwaRw Hed TR arg-wars gRI 91d @, g 8

1. (Sligr=)
2. T49d (WAR<H)
3. HWEeR (W)
4, TEsH

Options :

64655035531, 1
64635038532 2
646350358533. 3
64635035534. 4

Question Number : 60 Question Id : 6463509789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Implosives are made with

1. eggressive glotralic airstream
2. ingressive glottalic airstream
3.  ingressive velaric airstream
4. eggressive velaric airstream

Options :
64635038535, 1

646350358536. 2
646350358537. 3
646350355338. 4

Question Number : 60 Question Id : 6463509789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
3R wd Bid @

1. aRnth yreerie argvas
2. SaTiFl HIEEHE aRgEE g
3, sianiHl §g-dreey arayas gRl
4, il gg-areer arIvaTE gRI
Options :
64635038535, 1
64635038536. 2

64635038537. 3
B4E35028528. 4

Question Number : 61 Question Id : 6463309790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The word ‘khat-khst’, knocking sound in Hindi or a similar sound in most Indian
languages is an example of reduplication which justifies a process of ; it brings
out word-to-word forms in the language.

1.  grammaticalization
2. lexicalization

3.  synthesization

4. neutralization

Options :

64635038535, 1
646350238540. 2
64635038541, 3
64635038542, 4

Question Number : 61 Question Id : 6463509790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fet / "ge-ge, eger &1 Wl ey et HReT HTradl # 53l W &1 af gsida
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Freaey [ 8
1. SHORHIO
2. WeE-UE i
3. dxadiew
4. doRM@i
Options :

646350358539. 1
64635035540. 2
64635035541. 3
64635035542, 4

Question Number : 62 Question Id : 6463509791 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

The temn ‘concatenation’ in morphology refers to
1. decoding the meaning of words
2.  encoding the meaning of words
3. separating or linking the affixes of words
4,  enforcing the external meaning of words

Options :

64635038543, 1
64635035544, 2
64635038545, 3
64635038546, 4

Question Number : 62 Question Id : 6463509791 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

TR H HHEal § i 8
1. e & R
2. Il @ ATHITT T Foaw oI
3. & o i g 1 vaee
4. & a7y 3ref B o B
Options :

64635035543. 1
64635035544. 2
64635035545. 3
64635035546, 4

Question Number : 63 Question Id : 6463509792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The words such as ‘embolden’ and ‘enkindled’ in English are examples of a
morphological process, called

1. suffixarion
2. infixation

3.  prefixation

4. circomfixation
Options :
64635038547, 1
64635038548, 2
64635038549, 3
64635038550. 4

Question Number : 63 Question Id : 6463509792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sl ¥ieT, & e3 GUi ‘embolden’ SR ‘enkindled’ WORIYTT WpH & TSR0 £1 §F 541
FE1 ST 87

1. WyGg-geq

2. AY-UAY 9NE

3. Od-wew e
4, oy die|
Options :

646355035547. 1
64635035543. 2
64635035543. 3
64635035550. 4

Question Number : 64 Question Id : 6463509793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The words such as ‘edit’ and ‘paddle’ in English are examples of word-formation
process in linguistics that is known as

1. coining

2. back formation
3. clipping

4. blending

Options :
64635023551, 1

646350358552, 2
646350358553. 3
64635035554. 4

Question Number : 64 Question Id : 6463509793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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SO MTST & We% TAT ‘edit’ AR ‘paddle’ M H Seg-FHI0T 5559 & SaTEN0 &1 58

T FEI T &7
1. wEs-(ymi
2. o |
3. Fad
4, e
Options :

646350358551, 1
B4E35038552. 2
646350358553. 3
64635035554. 4

Question Number : 65 Question Id : 6463509794 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

In generative syntax, a verb can’t give B-role (theta-role) to
1.  specifier
2. direct object
3. indirect object
4.  oblique object (adjunct)

Options :
64635038555, 1

646350358556. 2
646350358557. 3
646350385538, 4

Question Number : 65 Question Id : 6463509794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
v e i ProffRa 4 4 fd odo 7l 2 vl &7

1. Féme
2. TEIH
3. TusH

4, Toorll &4 (us)
Options :
646350358555, 1
64635038556, 2
64635038557, 3
64635038558, 4

Question Number : 66 Question Id : 6463509795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The X-bar theory in syntax facilitates the generative grammar to explain and describe
an intervening node by providing for the configurational relationship in a phrase.

1. anintermediate node

2. animmediate node

3.  aparallel node

4. abinding node
Options :
646350358559. 1
646350338560. 2
646350358561, 3
64635023562 4

Question Number : 66 Question Id : 6463309795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fia-f4are ¥ X-aR R & Fuasy Woae Te ¥ Ter &) fedd 9egy #
faaraTere wy & Pt murd Y &t orem s e 8 g 2

1. wadl omify

2. 3 SmRifY

3.  EEHGT S

4. SrTEYE Sy
Options :

646350358559. 1
B4E350385€0. 2
64635035561, 3
64635038562, 4

Question Number : 67 Question Id : 6463509796 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

In generative syntax, the hierarchy in a tree-diagram can be explained better if we have
for the bifurcation of the branches (nodes) in a tree-diagram.

1. animmediate branching

2.  abinary branching

3.  ahaultible branching

4.  atemary branching
Options :

646350358563. 1
64635035564, 2
646350338565. 3
64635035566, 4

Question Number : 67 Question Id : 6463509796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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YoE Aey-fasarg # g8 I & 91U @I dgad ddie 3 alvid fean o Y@l g, aig g
urg el ger s o wransdt @fémh & R s Ry 2

1. a9

2. R

3. =g

4. PERAEA
Options :

64635033563. 1
64635035564. 2
646350358565, 3
64635035566, 4

Question Number : 68 Question Id : 6463509797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Among manyv NPs, one of the types of NP can't simply occur in a sentence without any
reference (coindexation) elsewhere in the same sentence is known as in

Govemment and Binding Theory.
1. pronoun
2. deixis
3.  anaphor
4.  common noun

Options :

64635038567, 1
64635038568, 2
64635038569, 3
64635038570, 4

Question Number : 68 Question Id : 6463509797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
% NP # NP &1 &I% Us UoR U 31 aigy ¥ 37ad ot wel we-fraas) & fmr =8 on

Teral & Y1 58 Toed SR Fu Rz o
1. =
2. fRfy-fAdm
3. RS
4. oS SW
Options :

64635033567. 1
646350335638. 2
64635035569. 3
64635038570, 4

Question Number : 69 Question Id : 6463509798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In a syntactic tree, 2 node ‘X' c-command Y’ iff neither dominates each other : this
relation holds true for sister nodes and daughter nodes; however, we also have a special
c-command relation between sister nodes and that is

1.  asymmetrcal c-command
2. immediate c-command
3. intermediate c-command
4.  symmetrical c-command
Options :
64635038571, 1
64635038572, 2

646350358573. 3
64635035574. 4

Question Number : 69 Question Id : 6463509798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fodft arn-faomw qu § S X' ¢ -FEE Y & of S F § & off o g W Erdl
7 B 3 7% TEy vy ok ol ey ¥ Ro v & qurfy oot o ooy &

g TS TR E:
1. ARl o-FHis
2. HE c-FHIS
3. HEEd oS
4. QAT c-FHIS
Options :

64635035571. 1
64635038572, 2
64635038573. 3
64635038574, 4

Question Number : 70 Question Id : 6463509799 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When an interrogative structure such as ‘Did you ....7", “Are they ...7" or "Can we .7 is
used with the function of a question, it is described as a

1. direct speech act
2. phonic act

3.  indirect speech act
4.  rhetic act

Options :

64635038575, 1
64635038576, 2
64635038577, 3
64635038578, 4

Question Number : 70 Question Id : 6463509799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fepa ST & A1 59 B AR
1, UdE 9re-onar
2. WHAWEUR
3. SYAY S-SR
4. Wopix
Options :

646350358575. 1
64635038576. 2
64635038577. 3
64635038573, 4

Question Number : 71 Question Id : 6463509800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The states that “unless there is evidence to the contrary, the hearer is presumed
capable of determining the meaning and the referents of the expression in the context of
utterance’.

1. linguistic presumption

2. communicative presumption

3.  presumption of literalness

4.  conversational presumption
Options :

64635038579. 1
64635033580. 2
646350353581. 3
64635035582, 4

Question Number : 71 Question Id : 6463309800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

____sa e fe ot faoda =1 wisg 39 & 9 o 51 350 T ueH H o ik aftfag &
wamed & Frafon & wem T e 27

1. e wera
2. SHNUIAS GaHRIdl

3. Eifecwal @1 gdaRaal
4. RIS qEArgal

Options :
64635038579, 1

646350353580. 2
64635035581. 3
64635038582, 4

Question Number : 72 Question Id : 6463509801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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concems the ways in which languages encode or grammaticalize features of the

context of utterance or speech event.

1. Implicature
2. Deixis
3. Entailment

4.  Presupposition
Options :
64635038583, 1
64635038584, 2
64635038585, 3
64635038586, 4

Question Number : 72 Question Id : 6463509801 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

___ ¥4 fafet @ wedia @ R g wind sfea o ot & Se 9 fadiganstt &1
PCES Gl TP Bl W& HeH Hidl o

1. ffard

2. fefo-fdm

3. SrgaE

4.  wEE=
Options :

646350358583. 1
64635035584. 2
64635033585. 3
B4E350358586. 4

Question Number : 73 Question Id : 6463509802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“The White House has announced to hold peace talks with North Korea.” In the given
sentence “White House’ is an example of

1.  metonymy

2.  metaphor

3. polysemy
4. simile
Options :

646350358587. 1
6463503585838. 2
646350358589. 3
64635035590. 4

Question Number : 73 Question Id : 6463509802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. weew ¢
2. TP
3.  wg-dwa
4. IUHl
Options :

646350358587. 1
6463503585838. 2
646350358589. 3
64635035590. 4

Question Number : 74 Question Id : 6463509803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

is a term that we use in lexical semantics to describe a part-whole relationship
berween lexical items.

1. Metonviny

2. Homonymy

3.  Meronvmy
4. Hyponymy
Options :

64635035531. 1
646350358592, 2
6463503585393. 3
64635035594, 4

Question Number : 74 Question Id : 6463509803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
B el & A9 - deu s o s S RU M g &

1. weeH AR

2, HAHD

3, wafA

4 HGATHAT
Options :

646550355391. 1
64635038592, 2
B4E35038592. 3
64635035594, 4

Question Number : 75 Question Id : 6463509804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following is a cover tenm for devices which allow speakers to express
varving degrees of commitment to, or belief, in a proposition”?

1.  Evidentiality
2. Relativity
3. Modality

4.  Functionality
Options :
64635038595, 1
64635038596, 2
64635038587, 3
646350385838, 4

Question Number : 75 Question Id : 6463509804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o A @ o-T U3 Rt & e o o5 2, St asmell 9 frdt o & oft sfosemn

farsyra @1 ufvard amn @1 erftiered &= a1 82
1. W&
2. GTaeE
3. wEnYa
4 Rl
Options :

646350355395. 1
646350358596. 2
646350358597. 3
6463503535938. 4

Question Number : 76 Question Id : 6463509805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The pairs of words ‘above-below’, ‘buy-sell’ and ‘lend-borrow’ are examples of
1. hyponvms
2. converses

3. reflexives

4.  reversive
Options :
64635038599, 1
64635038600. 2
64635038601, 3
64635038602, 4

Question Number : 76 Question Id : 6463509805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1 oM (e
2. i (@it
3. Fowme (e
4. g
Options :

64635035599. 1
64635033600. 2
64635033601. 3
64635035602, 4

Question Number : 77 Question Id : 6463509806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following methods in historical linguistics has its aim to recover as much

as possible of the ancestor language from a comparison of the related descendant
languages and to determine what changes have taken place in these languages that have

developed from the proto-language?
1.  Lexicostatistics
2. Dialect geography
3.  Intemal reconstruction

4. Comparative method

Options :
646350338603, 1

64635035604, 2
64635033605. 3
B4E35035606. 4

Question Number : 77 Question Id : 6463509806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

it wr-faam 2 few fafa & odfa 6 v ) g ey s 9 surhva gE F
e § 38 gA-Rifa s o 3 Faifa s S 2 s d ure-vmw & Refm gd 82

1 WeEm gifeme!

2. UM I

3, HWidie g:fm

4. gEAeT faly
Options :

64635033603. 1
64635035604, 2
64635035605. 3
64635033606, 4

Question Number : 78 Question Id : 6463509807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A process that reduces the number of allomorphs and makes paradigm more uniform is

called
1.  analogical levelling
2. syncretism
3. blending
4,  apocope

Options :
64635038607, 1

6463503360838. 2
64635033603. 3
64635033610. 4

Question Number : 78 Question Id : 6463509807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U e, B Suey o S U wiTdl 2 SR 39 poRaey T uiae AR sifYe gawy
3 Wi & TEem &

1.  wrw e
2. HHwH

Lty

4. Qg

LFS ]

Options :
64635038607, 1

6463503360838. 2
B4E35025609. 3
64635035610. 4

Question Number : 79 Question Id : 6463509808 (Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A change in the meaning of a word so that it comes to include additional senses which
were not originally present but which are closely associated with the word’s original
meaning, is referred to by

1. synecdoche
2. metonymy
3. word blend

4,  amelioration

Options :
64635038611, 1

646350358612, 2
64635035613. 3
64635035614. 4

Question Number : 79 Question Id : 6463509808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1, SfifieErEs

2. =W

3. we-Them

4. ifede
Options :

64£350358611. 1
646350358612. 2
64635035613. 3
64635035614. 4

Question Number : 80 Question Id : 6463509809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The observation that jp/, &/, k' in Latin correspond to /£/ /8/, /x/ in the Germanic
languages is referred to as

1. Karl Brugmann's law

2.  Vemer's law

3.  Grassmann’s law

4. Grimm’s law
Options :
646350338615, 1
64635038616, 2

B4E35028617. 3
646350358618. 4

Question Number : 80 Question Id : 6463509809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
TE & i AT W @ A/, v, &/, SEE uTERelt @ /E e/, v/ F TEgE € 3 et

# 3 i<t s ot ot 22
1. el v &t Fraw
2. wX @ e
3. e @ aE
4. Pmwfaa
Options :

64635038615, 1
64635035616. 2
64635035617. 3
646350356138. 4

Question Number : 81 Question Id : 6463509810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In a bomrowing langnage, where loan words, which do not conform to native
phonological patterns, are modified to fit the phonological combinations which are
permitted in the borrowing languages. Which of the following refers to this process?

1.  Accommodation
2. Aclimatization
3. Centralization
4. Dissimilation
Options :
64635038619. 1
64635038620. 2

64635035621. 3
64635035622, 4

Question Number : 81 Question Id : 6463509810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TS T H W51 U9 T W off TaeRil Siiihe HRREAT F 37 76 g 9% Wilhe
Taior # 3G S & fo Suiafka fem o € S ses v | oFRd 81 5 ot =

Prfefae § 3 S- 99 & @ 22
1. 3fif¥re sHieTo
2. T
3. FEiww
4. Redew
Options :

64635035619. 1
64635035620. 2
64635035621. 3
B4E35025622. 4

Question Number : 82 Question Id : 6463509811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The change, which involves the range of meanings being decreased so that a word can
be used appropriately only in fewer contexts than it could before the change, is called

1.  pejoration

2. elevarion

3.  semantic namrowing
4. ellipsis

Options :

646350338623, 1
64635038624, 2
64635038625, 3
64635038626, 4

Question Number : 82 Question Id : 6463509811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1 ey
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Options :

64635035623. 1
B4E35035624. 2
64635035625, 3
64635035626. 4

Question Number : 83 Question Id : 6463509812 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A term used in historical linguistics to refer to a type of borrowing, where the
morphemic constituents of the borrowed WORD or PHRASE are translated item by
item into equivalent MORPHEMES in the new langunage.

Select the correct answer from the following :
1. Malform

2. Calque

3.  Archaic tranglation

4, Push chain
Options :
64635038627, 1
64635038628. 2

B4E35035629. 3
64635038630. 4

Question Number : 83 Question Id : 6463509812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

tfqeis m-fasm # yo oftdiys weg o 6 U8 Se YoR 31 49 & W8 A
Y AT USHY & T a0l 7 79e-5wg oA g B, Pl i A R E -

w7
1. SAEH
2. SAId $dIg
3. oE Sdig
4, SUE @
Options :

64635033627. 1
646350336238 2
64635035629, 3
64635035630, 4

Question Number : 84 Question Id : 6463509813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following is true about the English Great Vowel Shift?

1.  The high long vowels were lowered

2. The unrounded vowels were rounded

3.  The short vowels were systematically raised

4. The high long vowels were diphthongized
Options :

64E350358621. 1
646350358632, 2
64635033633. 3
64635035634. 4

Question Number : 84 Question Id : 6463509813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
st v H e R R et A PR A Snm T i

1. I=EdwrdEdAtsrmamud

2. R =R 9 afie far
3. O ® 9Uas ©9 ° g5l Tl

4. I TR B Swelipa (a1 T

Options :
64635023631, 1

646350338632 2
64635035633. 3
64635035634. 4

Question Number : 85 Question Id : 6463509814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Any systematic observation of speech defines a context in which some conscious
attention will be paid to that speech, so that it will be difficult, without great ingenuity,
to observe the genuine ‘vemacular’. This principle accounts for what has been called as

1. convergence
2. vemacular principle
3. uninformation prnciple

4,  observer's paradox
Options :
64635033635. 1
64635038636. 2
64635038637, 3
64635033638. 4

Question Number : 85 Question Id : 6463509814 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. sfirwo

2. S R

3. UmaHEd NG

4. Uy Ry
Options :

64635035635. 1
64635035636. 2
646350358637. 3
64635035633. 4

Question Number : 86 Question Id : 6463509815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion I: The dependent (linguistic) variable must change when some independent
vanable changes.

Assertion I1: The dependent variable must stratify the subjects in ways that are
socially or stylisticallv coherent.

Choose the correct option from the following :
1.  Onlylistrue
2. OnlyIlistrue
3. BothI and II are true

4. None of the assertions is true
Options :
64635038633. 1
64635038640. 2
64635038641. 3
B4E35025642. 4

Question Number : 86 Question Id : 6463509815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ey I ¥ (Heewie) w9 siawd uialdd enm, W W6 O aeadl ol

HREYA 11 B 9x wfeadl (Teoiaey) & 59 veR faftm sl # fRywfea o € ot

g iR Aefidmfre T9 8 gE 2
el faeea &1 909 Fifeg
1. FEITd?
2. FmITE
3. IdRIGHITAE
4. g sifimyT e R

Options :
64635038639, 1

64635035640. 2
64635035641. 3
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64635023642, 4

Question Number : 87 Question Id : 6463509816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The H variety of a diglossia mav not be used
1.  forbroadcasting the news on radio and television
2. in folk literature
3.  for wrting poetry

4.  for writing editorials in newspapers

Options :
64635038643, 1

64635035644, 2
64635035645. 3
64635035646. 4

Question Number : 87 Question Id : 6463509816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TS (R w1 H 5o v T8 8 v &
1. YR ik ged w wEER ¥ v & R
2. Wewitad

3. R dEF R

4. R Sueed dad « e
Options :
64635038643, 1
64635038644, 2
64635038645, 3
64635035646, 4

Question Number : 88 Question Id : 6463509817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When is used to conceal the activities of a people such as criminals, it may be
called argot.

1. taboo
2.  euphemism
3. slang

4. vemacular

Options :
64635038647, 1

64635035643 2
64635035643. 3
64635033650. 4

Question Number : 88 Question Id : 6463509817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

TE_____ w1 A it o wrt i nfaRfindt 2w ¥ R fem o & 3 weareh

el Wil 2l
1. oo (&)
2. Tmwife
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4, AU
Options :

64635035647. 1
B4E35035645. 2
64635035643. 3
64635033650, 4

Question Number : 89 Question Id : 6463509818 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

In the context of standardization of language as discussed by Haugen, the elaboration of
function refers to

1. selection of a variety of language as one to be developed into a standard
language

b

reduce variations in the language by writing dictionaries and grammars

3.  the acceptance of the variety by the relevant population as the variety of the
community

4.  increase the functions of language in all domains of social and public life

Options :
64635038651, 1

646350358652, 2
64635033653. 3
64635035654, 4

Question Number : 89 Question Id : 6463509818 Question Type : MCQ Option Shuoffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
HIGT & AFDIGI0 & TEH H BRI P TR WoTd [Swaevl § Sy §

1. AF® YW & w4 H Reiia $ 8g HIb TN 1 997

2. BN g WIS TEH gRI HINPTK [THg] & 1 &1

3. Ve SEESH G4 HIYT Yo 99 &1 THEE & YUYl & HIYT UeN wU §
Wik

4. WIS 3 Seiea S 831 7 4 & vl A gfg
Options :
64635033651, 1
646350238652, 2

64635033653. 3
64635035654, 4

Question Number : 90 Question Id : 6463509819 (Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following is NOT a conseguence or result of langnage contact?

1. Bomowing

2. Diglossia

3. Bilingualism
4. Pidgin
Options :

64655035655. 1
B4ES503865E. 2
646350338657 3
64635033653, 4

Question Number : 90 Question Id : 6463509819 (Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Frfafea § | S9-91 1 Sub 51 9o T8 32
1. W
2. HmIEd
3. Tt
4, ffes
Options :

64635033655. 1
64635035656. 2
646350338657 3
64635033653, 4

Question Number : 91 Question Id : 6463509820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

An implicational universal will claim that if a language has SVO basic word order, then
it has preposition; if we symbolize VSO as ‘q’ and preposition as ‘p’, which of the
following is not attested?

11_ :p$ ﬁ' :q‘l

b2

' = 'notq’

3. ‘notp’ ='q

4, ‘notp’ —‘notq’
Options :
64635038659, 1
64635038660, 2

64635033661, 3
64635033662, 4

Question Number : 91 Question Id : 6463509820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. 'p QD

3. pT ¢

4. ‘pTE —>'qTE"
Options :

64£35038659. 1
64635035660. 2
64635033661, 3
64635033662, 4

Question Number : 92 Question Id : 6463509821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In language typology, a statement that all languages have oral vowels makes no
reference to any other items that must or must not be present in the language
exemplifies the universals as

1. formal

2. non-implicational

4y

3. substantive
4. implicational
Options :
64635038663, 1
64635038664, 2
64635038665, 3
64635038666, 4

Question Number : 92 Question Id : 6463509821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. iR-ffead
3.  WARF
4. Az
Options :

64E350386€3. 1
64635035664, 2
64635033665, 3
64635033666. 4

Question Number : 93 Question Id : 6463509822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A language named Brahui which is spoken in Afghanistan, Baluchistan, Turkmenistan
and Pakistan incidentally belongs to

1. Indo-Aryan language family
2.  Dravidian language family
3. Tibeto-Burman language family

4.  Austro-Asiatic language family
Options :
646350338667, 1
646350386638, 2
64635038669, 3
64635038670. 4

Question Number : 93 Question Id : 6463509822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FEA AHS HIET, S SR, S, gentead R afewE | g ol g,

wm%ﬁwgm?ﬁ&iﬁﬁﬁ&ﬂfﬂr&
1. 33-3ma yEEd
2. wiogHNIEY

3. foeng-swl wwea
4. STE-URTE HrTET
Options :
64635038667. 1
64635038663. 2
64635038668. 3
646350358670. 4

Question Number : 94 Question Id : 6463509823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the languages of South Asia, the standard of comparison (Std. of Comp.) and the
marker of comparison (M of Comp.) seems to have great connection with the word

order of the langnage. So if the marker of comp. precedes the Std. of Comp., the
language is mostly non-verb final, but if the marker follows the Std. of Comp., the
language is mostlv verb final. This generalization is discussed under

1. word-order effect

1=

word-order correlation effect
3.  branching direction effect

4. constituent shift effect
Options :
64635033671, 1
64635038672, 2
646350328673, 2
64635038674, 4

Question Number : 94 Question Id : 6463509823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Wb YHE

2. Temd HEHEd HHE

3. ST HQW VHE

4. 3ggg uigh uyE
Options :
646350338671, 1
64635038672, 2

B4E35028672. 3
646350358674. 4

Question Number : 95 Question Id ; 6463509824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

The ‘thickness’ or ‘thinness’ of a line on a langunage map which marks a distinet
linguistic feature in that linguistic area is known as

1. issolog

2. issogloss

3. issolect

4.  dialectolog
Options :

64635033675. 1
646350358676. 2
646350338677. 3
64635035673 4

Question Number : 95 Question Id : 6463509824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HIST AY W 3E1 &1 'Sierd 91 ‘Iqardd’ §i Heese &7 § Ry ke e @t

Yaifeea seae, 2
1.
2. GEMTET SR
3. gEidee
4. @
Options :

6463550358675. 1
646350338676. 2
646350338677. 3
64E35038675. 4

Question Number : 96 Question Id : 6463509825 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In the context of the implications resulting from the five hypotheses proposed by
S. Krashen which of the following is NOT comect?

1.  Asmuch comprehensible language input as possible must be presented

2. Syntactic structures are more useful than visual aids and the wide range of
words

3. The focus in the classroom should be on listening and reading; speaking
should be allowed to ‘emerge’

4. Input should be interesting and meaningful in addition to a relaxed
classroom atmosphere

Options :

64635038679, 1
64635038680, 2
64635038681, 3
64635038682, 4

Question Number : 26 Question Id : 6463509825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
TH, HYH g wEiay Ofg aReea il F roRae 397 THIE F SeH | RofefRa A |
BT T A8 7

1. qurEya S ARy Hien wed S Wl =it

2. @R @ e e Suer o qern  sfie gt 2 & sl g
o5~ agd Y aidi &

3. o H R R A W R e o afee; awm o R e o afe

4, UHER UEE AR WU T TIRT AR 39 WY-WY Fa1 T Aer Ht ogew
B =TiRe

Options :

6463503386795, 1
64635038620. 2
64635038681, 3
64E£35028682. 4

Question Number : 97 Question Id : 6463509826 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a disability affecting reading and writing, words may be confused with totally
unrelated words, even those of very different appearance, which are somehow similar
in sound, meaning or grammatical class. Which one of the following refers to this?

1. Dysgraphia
2. Apraxia
3. Surface dvslexia

4.  Deep dyslexia

Options :

64635038633, 1
64635033634, 2
64635038685, 3

64635035686, 4
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Question Number : 97 Question Id : 6463509826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

957 iR O 9 wifda B ol s @t R # wies gof: e vt 3w wa 3
Y aFa & Tad U8 v o v 21 R Reat af, srf ik sreeie @ ve-orelt 2t 2

oz Poftifan & 2 frad déftm #2
1. JEdww
2. 9 e
3.  WaE oA
4. TEA oA
Options :

64635035683. 1
B4E35025684. 2
64635033685. 3
64635035686. 4

Question Number : 98 Question Id : 6463509827 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Humans are genetically imprinted with knowledge about language. Select the correct
option from those given below which refers to this belief?

1. The monitor hvpothesis

2. The relativity hypothesis

3. The generalization hvpothesis

4.  The innateness hypothesis
Options :
64635038687, 1
64635038688, 2
64635038689, 3
64635038690, 4

Question Number : 98 Question Id : 6463509827 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HHE B HTARIE ¥ F HIEI-TH S T9fie 91 W gal gl Fefifea # 3 aF-w e

T AT O Wi 87
1. Hi-ct YN
2. e Ui

3. WAoo Uieed T
4.  Saald Uil

Options :
64635033687, 1

646350336838. 2
64635035689. 3
64635033690, 4



WWW.prepp.in .repp

Your Personal Exams Guide
Question Number : 99 Question Id : 6463509828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which of the following options is a term used in language ACQUISITION torefertoa
GRAMMATICALLY unstmcrured UTTERANCE, usually consisting of a single
WORD, which is characteristic of the carliest stage of LANGUAGE leaming in
children?

1. Toponym
2. Vocalization

3. Pivot
4.  Holophrase
Options :

64635035631. 1
646350356392, 2
646350356393. 3
64E35025694. 4

Question Number : 99 Question Id : 6463509828 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
RIS 2Y § SRRTES Sid &1 /iR F g HT91-3RiF & 1S 811 IR 96 -9 8,
forei g WS Bidl & SN 48 GTae] § HI9L-SITH & URiie o o1 siies 27

1. RITHEH
2. WEIu
3. wUe

4. GiogiHS ¥
Options :
646350358691, 1
64635038692, 2
64635038693, 3
64635038694, 4

Question Numnber : 100 Question Id : 6463509829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The argument, from which it follows that for language acquisition something must
supplement linguistic experience and the innate language faculty fulfils this role, is
known as

1. language faculty
2. poverty of the stimulus
3.  cultural ansmission

4.  relativity hypothesis

Options :
64635038695. 1

64635035636. 2
B4E35028697. 3
64635035633. 4
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Question Numnber : 100 Question Id : 6463509829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

T, oo g Sguiea T & (& HIT-3ia- & R YS! SHYT © 91Y $© Ha%d Bl
TRY AR S=wria Hnl Forg # 39 i &1 Q1 i o 31 59 R0 F91 9 77

1. oY Sol
2.  SEue ®f g
3. ld® 9iNEvl

4. U URGeI

Options :
64635038695, 1

64635035636. 2
646350336397. 3
64635035693, 4

Question Number : 101 Question Id : 6463509830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“It is most sane and sunly
and more it cannot die”

In the given verse, the word ‘sunly’ is an example of

1. analogy

2, parallelism
3. neologism
4, metonymy

Options :

646350336995, 1
64635038700. 2
64635038701, 3
64635038702, 4

Question Number : 101 Question Id : 6463509830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘52 59 Are 9 T8 Fell
U8 AR ¥ Sle JF
3 U H el W fepent TaTeRm &7
1. SRl
2. WO
3. TaEEE-HE
4. ot

Options :

6463503386995, 1
646350238700. 2
646350238701, 3
64635038702, 4
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Question Number : 102 Question Id : 6463509831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Machine translation in computational linguistics is metaphorically crowned with a
sarcastic remark as language on one side, garbage another side, because

1. machine translation needs better hardwared computers
2. machine translation mainly targets word-to-word replacement
3. machine translation needs more manpower to process the data
4.  machine translation creates a new form of language

Options :

64635038703, 1

64635038704, 2

64635035705. 3
64635035706, 4

Question Number : 102 Question Id : 6463509831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
m%%mﬂmwﬁw*ﬁmw,mmmkmﬂﬁa
1. R SgaE & 6y 35 greday arcl HRyeY a0 §
2. FRIFT ARG HE: RG] SAE S 060 T8aT §
3. AR 3K § 39 F UFA & [ ot e 90 @1 esasa @
4. FRIFR AT M & Y T 51 9ol F ¢
Options :
646350338703, 1
646350238704, 2

B4E35035705. 3
64635035706. 4

Question Number : 103 Question Id ; 6463509832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following tools is most frequently used in computational linguistics to
gather huge data from the ‘web’ for creating big linguistic corpora for natural language
processing?

1.  Webcrawler

2. Wikipedia

3.  Unicode

4. Thinktank
Options :

64635035707. 1
646350357038. 2
64635035703. 3
64635035710. 4

Question Number : 103 Question Id : 6463509832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

PR & @ S g =nalis e v & fire g srrdt sl 3o & g3 @
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1. dE@ieR

2, feendfsm

3. gRErs

4. fieds
Options :

64635035707. 1
64635035708. 2
64635035703, 3
64635035710. 4

Question Number : 104 Question Id : 6463509833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In translation a term refers to ‘the linguistic level at which ST is re-codified inTL'.
Select the correct option which exmplifies the above mentioned term :

1. the unit of translation

2. false-friend

3.  tanslation shift

4.  meaning equivalence
Options :
646350358711 1
64635035712, 2

64635035713. 3
64635035714, 4

Question Number : 104 Question Id ; 6463509833 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Sarg # M@ # § -9 0§ ‘HNI-a9ie TR 9 W Hid U8 &1 a8 HiE d

e foa ST & @ T 82
1. SIS 3 e
2. T fiE
3. SraTE uRg
4. od wugeaa
Options :

64635035711, 1
64635035712, 2
64635035713. 3
64635035714. 4

Question Number : 105 Question Id : 6463509834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In translation ‘any TL text or portion of text is observed to be the equivalent of a given
SL text or portion of text’. Which of the following refers to this?

1. Formal correspondence

2.  Textual equivalent

3. Linguistic affinity

4.  Simultaneous interpretation
Options :
64635038715, 1
64635038716, 2

64635035717. 3
646350357138 4

Question Number : 105 Question Id ; 6463509834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

3ATE | ‘SIS U&T U WIS 91 Ui 31 (e [ 53 T Wi Hian uie @1 uie & it @
TR T o & I8 Pt S fewd Tiitm ¥

.  FUES SAgedn

2. USTE FAgET

3. um-dwfe wee

4. TOQ M9
Options :

64635035715. 1
64635035716. 2
64635035717. 3
B4E35035718. 4

Question Number : 106 Question Id : 6463509835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The translator offsets an inevitable loss at one point in the text by adding a suitable
element at another point. Which of the options given below refers to this?

1. Compensatory translation gain
2. Lexical equivalence
3.  Translation archive

4. Translation plan

Options :

64635038719, 1
64635038720. 2
64635038721, 3

64635035722 4

Question Number : 106 Question Id : 6463509835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. wfox FRge

3. AT fidterm
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Options :

64635035719. 1
64635035720. 2
64635035721. 3
64635035722, 4

Question Number : 107 Question Id : 6463509836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Research on language of ads was initiated by
1.  Marshall McLuhan

2. Geoffrey Leech
3. Nomman Fairclough

4.  Guy Cook
Options :
646350338723. 1
64635038724, 2
646350338725. 3
64635038726. 4

Question Number : 107 Question Id : 6463509836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

fammoet &t Hm R Ty 1 S fewe ay e
1. Wi A
2. wFE S
3. AR PRRw
4 TRTE
Options :

646355035723. 1
64635035724, 2
64635035725, 3
64635035726. 4

Question Number : 108 Question Id : 6463509837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which among the following are used quite frequently in the language of
advertisements?

1. Verbs

2. Prepositions

3. Adjectives

4. Pronouns
Options :
64635038727, 1
B4ES5038728. 2

64635035729. 3
64635035730. 4

Question Number : 108 Question Id ; 6463509837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
ot 3 | g s Ryt 9w § -aR foea w87

1. e

2.

3. faEew

4.  FEH
Options :

646350358727 1
64635035728. 2
64635035729. 3
64635035730. 4

Question Number : 109 Question Id : 6463509838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion I: Language is a social institution.

Assertion II : Humans are bom with an instinct to leamn a particular language.

Choose the correct option from the following :
1. Iistrue bue [T is false
2. lis false bue IT is true
3. BothIandII are false
4. Both!land I[ are true

Options :

64635038731, 1
64635038732, 2
64635038733, 3

64635035724, 4

Question Number : 109 Question Id : 6463509838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Isfigfeglmam?

2. I mwefegladsz

3. [ oRIIGHITOm §

4. I9RIIFETRE
Options :
64635035731 1
64635038732, 2
646350338733. 3
64635038734, 4

Question Number : 110 Question Id : 6463509839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Assertion I: Competence refers to the system of rules which the speakers of a
language have mastered so that they are able to produce and understand
an indefinite number of sentences.

Assertion II - It is an important tenet of behaviourism.

Choose the correct answer from the following
1. Iisfalse and Il is true
2. BothI and II are false
3. listrue and IIis false
4. BothIandII are true

Options :
64635038735, 1

64635035736. 2
64635035737. 3
B4E35035728. 4

Question Number : 110 Question Id : 6463509839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HiWFT 1: & Fe el 39 ol § Sefia 2 fow | 3%« & g 3 v gtk
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Options :
64635038735, 1

64635035736. 2
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64635035727, 2

64635035733 4

Question Number : 111 Question Id ; 6463509840 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Match List—I with List-II :

List-1 List-1I
(@) Referential function @) Addresser
(b) Emotive function @) Code
(¢) Conative function (i) Addressee
(d) Metalingual function @v) Context

Which of the following combinations is comrect?
L @rv); (b)(); (o)) (dr-(i)
2. @0 ®)G); (@) (d-Gv)
3. @) GXGv) -0 (-G
4. @ra) G)r@i); (v [d-0)

Options :

64635038735, 1
64635038740. 2
64635038741, 3
64635038742, 4

Question Number : 111 Question Id : 6463509840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-1 o -1 & gaftr wifm
-1 -1
() VeHids YEr WO INs
(b) HIAIHS T (@ =<
(¢) Toares verd (i)  Wifeet
d) TS Tl (v) Had
Poffea H I s-wgm wd &

L @-Gv): 0)-0): (i) (d)r-Gi)
2. @G (X0 (i), (d)y-(v)
3. (@G oXGv) (©-G); (d)-i)
4. (@rG); ©)xGiD; (-Gv); (-0

Options :

64635038735, 1
646350238740. 2
64635038741, 3
64635038742, 4
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Question Number : 112 Question Id : 6463509841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion I: Signlanguages are fully developed languages.

Assertion II : Sign languages have their own grammatical rules and a mental lexicon.

Choose the correct option from the following :
1. Iistrueand Il is false
2. Ilistrue and [ is false
3. BothIand Il are e

4. Both I and II are false

Options :

64635038743, 1
64635038744, 2
64635038745, 3
64635038746, 4

Question Number : 112 Question Id : 6463509841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sy I: Hebd HINT Quia: fwhea HT9T gl

ey 11 - Tpd HINTSHT & SUA U & TSI A A AFIS Rec-aUg id 2

Prfaree A3 W SR 3T
1. 1SRRI TER
2. 1 WRIRMRITOEE
3. IdRISAITRE
4. IdROSETTOqE
Options :

64635035743. 1
64635035744. 2
64635035745, 3
B4E3503574E. 4

Question Number : 113 Question Id : 6463509842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion I: The field of linguistics, the scientific study of human natural language, is
a growing and exciting area of study, with an impact on diverse fields.

Assertion IT : When linguists speak of rules, they are always referring to prescriptive
rules from grammar books.

Select the comrect option from the following :
1. BothIandII are true
2. listrue and I is false
3. lisfalseand Il istrue

4. BothI and II are false

Options :
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64635023747, 1

64635035743. 2
64635035749. 3
64635035750. 4

Question Number : 113 Question Id : 6463509842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ay 1 wio-famm &1 43 w99 39fife wi &1 dWiAe 9EgH, R HEaT
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2. 1 WEig SR g
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Options :
64635035747, 1
6463503567438, 2

64635035743. 3
64635035750, 4

Question Number : 114 Question Id : 6463509843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List—I with List—II :

List-1 List-II
(a) Lungs ) Nasal Resonance
) Glottis (1) Vowel articulation
() Velum (i) Phonation
(d) Tongue (iv) Air stream

Choose the correct option from the following :
1o () @G (o-wv); @0
2. (a-Gv); (b)) ()0 (-G
3. (@-Gv); (b)) (eHGl); (d-HD
4. (@-Q) ®)Gi); (©-Gii); (d-v)

Options :

64635038751, 1
64635038752, 2
64635038753, 3
64635038754, 4

Question Number : 114 Question Id : 6463509843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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64E550358751. 1
64635035752, 2
64635035753, 3
64635035754, 4
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Question Number : 115 Question Id : 6463509844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion 1: A sound wave is a travelling pressure fluctuation that distwrbs the

Assertion II : The detailed analvsis of this molecular movement constitutes articulatory

molecules in the air.

phonetics.

Choose the correct option from the following :

1.
2
3.

4.
Options :

Iis false and Il is true
Both I and II are false
Both I and II are true

Iis true and II is false

64635035755. 1
64635035756. 2
64635035757. 3
64635035758 4

Question Number : 115 Question Id : 6463509844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. 13RIl e 8
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Options :

64635038755, 1
64635038756, 2
64635038757, 3
64635038758, 4

Question Number : 116 Question Id : 6463509845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion I: Lexical rules may refer to morphological labels and they cannot have
exceptions and also cannot apply across word boundaries.

Assertion I ; Post-lexical rules cannot refer to morphological labels, and these may
have exceptions and also may apply across word boundaries.

Select the comrect option ;

1. Iistrueand IIis false

2. lisfalseand II is true

3.  BothI and II are true

4. BothI and II are false
Options :

6463502358759, 1
64635035760. 2
64635035761, 3
64635035762, 4

Question Number : 116 Question Id : 6463509845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

APy 1 S Fan S ude ded & Sefid 31 95d ¢ 9IR 39S HUhIE 78l ol §6d
gk tvm Al fmsida R Mol wwa &

s I 9y-wre fraw Ere-dfees ) Toee fe0 3 Wi 78 € e 8
SN g SMUAIG Bl Thd & I A Weg o Trsh § W o &1 31 9hd B

& s = 399 Fifo
1. ISR ARIITOE 8
2. ITTERRIIw R

3. [ ARIGAT TR E
4. 19RII S o &
Options :

646355035759. 1
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B4ES5035760. 2
64635035761, 3
64635035762, 4

Question Number : 117 Question Id : 6463509846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the items of List=I with those of List=II in the context of phonological mile
interactions :

List—I List—I1
(a) Feeding orderisif ()] Rule A decreases the number of the
foorms to which rmle B can apply
[the order A-B]

(b) Counterfeeding orderis  (it) Rule A decreases the number of the

if forms to which rule B can apply
[the crder B—-A]
(c) Bleeding orderisif (iii) Rule A increases the number of the
forms to which rule B can apply
[the order B-A]
{(d) Counterbleeding order iv) Rule A increases the number of the
is if forms to which rmile B can apply
[the order A-B]

Select the correct option :

1. (2)-Gib); ®)-G); (©—Gv): (d)-0)

2. (i), @) (o) (d)-Gv)

3. (@G (b)) () (d)-Gi)

4. @Gk @) (@) (d)-GiD)
Options :

64635035763. 1
64635035764, 2
64635035765, 3
64635035766, 4

Question Number : 117 Question Id ; 6463509846 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(@)-Gi); (b)-Gi); (c-av); (A
@-Gn); b)-G). (o)-Gii); (d)-Gv)
@-Gv); (b)x-(i); ()@ (d)-@)
(@)@}, ®)Gv); ()i); (d)(ii)

B4E350387€3. 1
64635035764, 2
64635035765, 3
64635035766, 4
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Question Number : 118 Question Id : 6463509847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion [: The feature [£sonorant] distinguishes obstruents from sonorant

Assertion II : All vowaels,

consonants and vowels.

Select the comect option :

i
2

&
4.

Options :

Tistrue and II is false
1is false and I is true
Both I and II are false
Both I and II are true

64635035767. 1
64635035768. 2
64635035769. 3
B4E35025770. 4

glides, liquids, nasals and laryngeal segments are
[+ sonorant], while plosives, fricatives and affricates are [- sonorant].

Question Number : 118 Question Id : 6463509847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
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Options :

646355035767. 1
64635035768. 2
64635035769. 3
64635035770, 4
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Question Number : 119 Question Id : 6463509848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A clitic is an obligatorily bound morpheme which is distinct from an affix because

(2) a clitic shows a low degree of selection for its host while an affix is very selective

for its host

(b) a clitic is attached to a phrasal element while an affix is always attached to a

lexical item

(¢) a clitic most often has a full form, but an affix has no such form which may be

full morpheme

(d) aclitic is mostiy syntactically motivated while an affix is always morphological

Choose the correct option :

1.

il O

Options :
64635038771, 1
64635038772, 2
64635038773, 3
64635038774, 4

Only (a), (b) are true
Only (c), (d) are true
All (3), (b), (©) and (4d) are wue
All (3), (b), (¢) and (d) are faise

Question Number : 119 Question Id : 6463509848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635038771, 1
64635038772, 2
64635038773, 3
64635038774, 4

Question Number : 120 Question Id : 6463509849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion 1: A stem is the form of a word that only acceptsitakes inflectional
morpheme.

Assertion 11 : A stem forming morpheme (a stem extender) is a morpheme that
converts a root-word into a stem to which inflectional markers of various
kinds can be added.

Select the correct option :
1. Tistue and II is false
2. Tisfalse and IT is true
3. BothI and II are false
4. BothlIand II are true
Options :
64635038775, 1
64635038776, 2
64635038777, 3
64635038778, 4

Question Number : 120 Question Id : 6463509849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635035775. 1
64635035776. 2
646350358777. 3
64635035773, 4
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Question Number : 121 Question Id : 6463509850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List—T with List-II :

(a)

()

(©)

(@)

List~I
Infixation (1)
Portmantean (ii)
Suppletion (1i1)

Stem-forming morpheme (iv)
(Stem extender)

Select the correct option :

L
2
3.
4,

Options :

(@)=(i); (b)=(1); (€)-(iv); (d)—(iii)
(@-(v); (p)i); (e)i); (D)1
(@-Gii); (o)) (e)-i); (@)
(@)-(v); (B)-(iin); (-1 (@)

646350358779. 1
64635035780. 2
64635035781, 3
64635035782, 4

List=II

An affix that represents
different grammatical
elements

An affix that is inserted
into a root item itself

An affix which 15
mterposed after root

Ajlomorphemic variant of
a morpheme which are
phonetically unrelated

Question Number : 121 Question Id : 6463509850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. (ay@v): (b)) (e)i); (d)0)
3. (ayGi); )Y (i) @r-iv)
4. @0v): ()u): (G (d)y0)
Options :

64635035779. 1
64635035780. 2
64635035781, 3
64635035732, 4
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Question Number : 122 Question Id : 6463509851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion I: Morphological productivity is a matter of degree in terms of generality

Assertion II : Morphological productivity is a matter of synchronic judgement of a
word-formation process as a process wiaich is very productive at some
point in Historv and may become less productive at another point i

and thus no word-formation process is productive or non-productive.

History,

Select the correct option :

13
2,
3
4.

Options :

Only I 15 true
Only IT 15 true
Both T and IT are true
Both I and II are false

64635035783. 1
64635035784, 2
64635035785, 3
B4E35035786. 4

Question Number : 122 Question Id : 6463509851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635035783. 1
64635035784, 2
B4E35025785. 3
64635035786. 4

Question Number : 123 Question Id ; 6463509852 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Examine the following sentences :

(A) The bov broke the glass.

] 0
(B) The glass was broken by the boy.
S O

The following concepts emerge in linguistics on the basis of (A) and (B) :
(@) The S of (A) is both grammatical and logical subject.
(b) The S of (B) is the logical subject but it 15 not a grammatical subject.
(¢) The S of (A) is not a grammatical subject bue it 15 a logical subject.
(d) The 5 of (B) 15 the grammarical subject but it is not the logical subject.
Chooss the correct option -
1.  All the above are true
2. All the above are false
3. Only(a) and (b) are brue
4, Only (¢) and (d) are trus
Options :
64635038787, 1
64635038788, 2

64635035789. 3
64635035790, 4

Question Number : 123 Question Id ; 6463509852 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635035787. 1
64635035788 2
64635035789. 3
B4E350235790. 4

Question Number : 124 Question Id : 6463509853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The process of causativization in linguistics increases the valency of a verb, allowing
the valency to take fresh NP with a new agentive roie as an argument. Such process can
be expressed

(@) morphologically

(b) lexically

(c) periphrastically

(d) grammatically

Select the correct option :
1. Only (a) and (b) are correct
2. Only(a), (b), (c) are correct
3.  Only (a) and (c) are correct
4. All of the above are corract

Options :
64635038791, 1

64635035732, 2
646350357393. 3
64E35025794. 4

Question Number : 124 Question Id : 6463509853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635038791, 1
64635038792, 2
64635038793, 3
64635038794, 4

(=
.

Question Number : 125 Question Id ; 6463509854 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
Match List-T with List-I1

List=I List=II
(@) XP:(YP) X' (1) Complement rule
b X :(ZAHX (i)  Adjunct rule
(© X' :X () (iii)  Specifier rule
@ X :X(WP) (iv) Adjunct rule

Select the correct option :
Lo (@) (0-); (-v); (@i
2. (a)=(i); (B)=(in); (=(1v); (d)=(1)
3. (@A) (b)-(1); (e)(ii); (dH(iv)
4 (@) (O)Gi); (@) (1)
Options :
64635038795, 1
64635038796, 2
64635038797, 3
64635038798, 4

Question Number : 125 Question Id : 6463509854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. (i) GyE) @) ([d-0
3. (@-0s @) (i) (d-Gv)
4. @-Gv) G)Gii); (-G (d)r-0)

Options :

646350357395. 1
64635035796. 2
B4E35028797. 3
646350357338 4
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Question Number : 126 Question Id : 6463509855 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
Assertion I: The minimalist program mtroduces a functional category ‘TP’ which

replaces another category ‘IP’ because, the svntactic operations had to
shift the focus 10 ‘tense’ marking from agreement.

Assertion I1: The munmmalist program followmg Razn (1997) suggests that the

functional category "CP’ is not just one single projection, but it is a
series of projections.

Select the correct option -

1.

o Y

Options :

Only I is true and II is false
Only I 15 false and 11 15 true
Both I and II are true
Both T and II are false

64635035799. 1
646350333800. 2
646350353801. 3
646350358002, 4

Question Number : 126 Question Id : 6463509855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635038799, 1
64635038800. 2
64635038801, 3
64635038802, 4

Question Number : 127 Question Id : 6463509856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The syntactic orientation in minimalist program argues that instead of single projection,
the ‘CP* should function as a series of projections and they may be

(@) forceP
(b) topicP
(¢) focusP

(d) fint P (finiteness)

Select the correct option :
1.  (a) and (b) are correct
2.  (b) and (c) are correct
3.  All are correct

4, All are incorrect

Options :
64635033803, 1

646350333804. 2
646350353805. 3
64635035506, 4

Question Number : 127 Question Id : 6463509856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635033803. 1
64635033804. 2
64635033805. 3
646350338806. 4

Question Number : 128 Question Id : 6463509857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List-I with List-II :

List=I List=II
(3) Node (1)  Any node with no branch
undemeath
(b) Label (ii) A node with no line on its
top
{(¢) Rootnode (ii1) The end of a branch
(d) Terminal node (1¥)  The npame given 1o a node

Select the correct option :
Lo (@-(v); (0)HGin); (-(1); (9-()
2. (ai); (b)-(1); ()-(v); (d)-ii)
3. (@-(v); (b)-Q); (c)-(ii); (d)-(ib)
4. @-n; (0-v); () (d)-0)
Options :
64635038807, 1
64635038808, 2
64635038809, 3
64635038810. 4

Question Number : 128 Question Id : 6463509857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(@) =i mE Gv) ol i &) fem mar A

7@ e IR

L @Gv) ()i (-G (d)-6)
2. (@@ Q) (©-(v) (@)
3. (@rGvk G&)G) (i) (@)
4. (@A), ()iv); (e-0b); (d)-{1)

Options :

646350338807. 1

64635038808, 2

64635033803. 3
64635035810. 4

Question Number : 129 Question Id : 6463509858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion I: In generative grammar ‘EPP’ entails that there must be a subject
(covert/overt) for every finite verb in a séntence,

Assartion IT @ Tha requirement that every NP must have a cass in ordsr to bacome the
part of any unterance is explained by cass-filter.

Select the correct option :

1. Tistrue and IT is faise

2. Iisfalseand II is true
3. BothI and II are true
4. BothI and II are false
Options :
64635038811. 1
64635038812, 2
64635038813, 3
64635038814, 4

Question Number : 129 Question Id : 6463509858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635035811. 1
646350358812. 2
646350353813. 3
64635035814. 4

Question Number : 130 Question Id : 6463509859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List—T with List-II

List=I List=II
(@} Maxim of quantity (1) Be relevant
(b) Maxim of quality (1)  Be perspicuous
(¢) Maxim of relevance (1) Be mformative
{d) Maxim of manner (iv) Make vour contribution
one that is true

Choose the correct option from the following :

L (a)=(iv); (B)-(ii); (e)=(iii); (d)-(1)
2. (@-ii); (o)(iv); (e)-(1); (d)-(iD)
3. (@) (0)-(1); ()i} (d)-(iv)
4. @) (b)) ()-Gil); (d-(v)

Options :

64635038815. 1

64635038816. 2

64635038817, 3

64635038818, 4

Question Number : 130 Question Id : 6463509859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i1 @i E-11 & Wy gafa S ;
Tefi-1 -1
() ofo g G WEREE
(by TR R i FEEE
(¢ wriffEar e (i) GETES
@ ez (v) e S
ol 4§ w8 e =1 997 Sifag:

Lo @-0v): (o)-Gi) (o) (d)-()
2. (@), ®XGv) (G); (d)-Gi)
3. @) )0 (©)-ii); d)-Gv)
4. @0 GX-@) ()-ui); d-iv)

Options :

64635038815. 1

64635038816. 2

64E35028817. 3
646350358818. 4

Question Number : 131 Question Id : 6463509860 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
Match List=I with List=II :

List-] List-11
(@ Metonymy (D  Flour-Flower
() Hyponymy (i)  Car-Whesl
(c) Homophones (iii) King-Crown
(d) Meronymy (iv) Bird-Crow

Choose the correct option from the following :
(@=(iv); (b)=(i); (c)=(iii); (d)~(i)
2. (@=(iii); (b)=(iv); (c)=(i); (d)=(ii)
3. @~ G (©-(v) (@)
4. @) (0-0v) (), (i)

—
Ll

Options :

64635038819, 1
64635038820. 2
646350238821, 3
64635038822, 4

Question Number : 131 Question Id : 6463509860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fi-1 @ G-I & Ty gafte St
Tefi-1
() ieETSR (A=) @
(b) SR (i)
(c) ST (iit)
(d) wRiH i)
ol fdeed @1 98- Sy ;
Lo (@-0v); (b)) (), d)-@)
2. @G OXGv) (©-6) @G
3. @@ ®)-G); (©-Gv) (d)-Gii)
4. (@rGi); ©XGv); ()-); (d)-Gii)
Options :

64635035819. 1
64635035820. 2
646350353821. 3
64635035822, 4
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TR -TRATERY
HR-TTHT
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el
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Question Numnber : 132 Question Id : 6463509861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion I: The relationship by which language hooks onto the world is usually

Assertion I - The semantic links between elements within the vocabulary system is an

cailed sense,

aspect of their reference.

Choose the correct option from the following :

L

EQ

3
4.

Options :

I is true and II is false
1135 false and I 15 true
Both I and IT are true
Both I and II are false

64E35038823. 1
64635035824 2
64635035825. 3
64635035826. 4

Question Number : 132 Question Id : 6463509861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

sty [0 O day forees g v iy & dedf 3 wgaa 2t 2, 53 sl s wman 21
S¥HEUF 11 :  Weden % WU & HidT sredl o dig sidd Hedy 3¢ He @1 U uga 2!

Frafafae & 3 vé Rew 1 997 Fifvm -
1. IwfgeRIIma e
2. I eagsik]wgia
3. IdRUIATARE
4, TSR Taa g
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ptions :

64E35038823. 1
64635035824 2
64635035825. 3
64635035826. 4

Question Number : 133 Question Id : 6463509862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion I: Sporadic sound changes affect only one or a few words, and do not apply
generally throughout the language,

Asgsertion II 1 We can predict which words mn a language a sporadic change will affect,
Select the correct option from the following,
1. BothIand I are true
2. I1istrue and II is false
3. Iisfaise and II 1s true
4. BothIand II are false
Options :
64635038827. 1
64635038823. 2
646350388293. 3
64635038530. 4

Question Number : 133 Question Id : 6463509862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YT [ HaraHe @i 9gd O ©at TS 91 Do Jeg WU 21d & iR SrEaadr
g YIS H §aa vaisa el g el

Hivpud 11 - g Hiaml & 94 § e fedl 4 d fog weg # eemie uiadd &1
TS US|

W& s g
1. ISR
2. I GEIRRITaR

3. IwagdARIIEAR
4. 18R II gl oa ¥
Options :
64635038827. 1
64635038828. 2
64635038829, 3
64635038830. 4

Question Number : 134 Question Id : 6463509863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Assertion 1: Repular sound correspondences constitute a strong evidence of genetic
affinity.

Assertion II : While they are fundamental to most approaches to determining language
families, they can be misused.
Select the correct option from the following :

1. Bothi and II are true

2. listrue and II is false

3. lisfalse and II is true

4. BothIand Il are faise
Options :

646350358831. 1
64635033832. 2
646350353833. 3
64635035834. 4

Question Nuinber : 134 Question Id : 6463509863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hier[ 12 Fofha 9egey af S et Saam & See Wedl 51 7184 &3 o

A I af IRaR RieiRe 2 it gafedl 73 geng & 6 o s geuE
foT &1 gl 2

et ¥ 9 vél e g
1, A IWHEE®
2. I w@gRIITEaE
3. ITomgsiRIITE?
4 GHIIW@WHTREAE

Options :

64635038831. 1
64635038832, 2
64635038833, 3
64635038834, 4

Question Number : 135 Question Id ; 6463509864 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List-] with List-II :

(a)

(b)
(©

(d)

List-I
Situational code-switching (1)
Daglossia (31)

Metaphorical code-switching (11i)

Code-switching (1v)

Choose the correct option from the following :
1.

2.

3

4.

Options :
64635038635, 1

64635035836. 2
646350358837. 3
646350358338. 4

(@) (O)-Gv); () (@)
(A)(iiD); [©){iv); (e-D); ()-(i)
(@)y=(1v); (0)=(0); (e)~(i1); (d)—(ii1)
(a)=(ii); (e)-(ii); (—D); (d-(v)

List-II

Change of topic 1s
mvolved

Often subconscious

No topic change 1is
involved

People are quite conscious
about the switch

prepp
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Question Number : 135 Question Id : 6463509864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-1 @i -1 & WY Gl i :
-1
() Riufers s oads @)
(b) MR i)
© T DS aRa (i)
@ TSR i)
e fdeen 1 99 Fife
1. @HD; ©)Gv); (GiD); (@G
2. (@A), ()v); (- (43
3. (@rv); (b@): (o)i); (i)
4. (@) (b)) (cH-@: (d)r-Gv)
Options :

64635033835. 1
64635035836. 2
64635035837. 3
646350338338. 4

-1
fawa it afra @
G TG
g o WA R

am oieds & oddy #H
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Question Number : 136 Question Id : 6463509865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Assertion 1. A register is a conventional way of using language that is appropriate in
a specific context.

Assertion I1 - One of the defining features of a register is the use of technical
terminology.

Choose the cormrect option from the following :
1. listrue and I is false
2. Iisfalseand IT is true
3. Bothl and II and false
4. BothI and II are true

Options :

64E£35038829. 1
64635038840. 2
64635038841, 3
64635038842, 4

Question Number : 136 Question Id : 6463509865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ity 1: IR U W8I &1 WHPE aiie & o iRy dedl § wde 21

SiftreuA 11 e @1 afevifd oo areh Riwarsii § S U@ da-ie] WISt &1 Wi 2|
e Roeu &1 997 S :

1. ISgIgaRIIToa g

2. I TEAReRIITER
3. @RI M T g
4.

I R 11 31 981 §
Options :
64635038839. 1
64635038840. 2
64635038841, 3
64635038842, 4

Question Number : 137 Question Id : 6463509866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Mateh List-—I with List-II

List-]
(@ Sociolext ®
(b) Field of discourss (i)
(¢} Mode of discourse (i)
(d) Tenor of discourse (iv)
Select the correct option :
L @5 (b)), (e)-(ii); (d—iv)
2 (@) (b)) (e)-(v); (@)
3. (@)=(v); (B)=(iil); (c)=(i); (A)=(iD)
4. (@)-(id); (B)(iv); (e)=(ii); (D)
Options :

64635035843. 1
646350355844. 2
64635035845. 3
64635035846. 4

List-II

Refers mainly to the way a
speaker speaks to the
person with whom he is
communicating

Refers to the means by
which communication
takes place, notably by

speech writing

Refers 10 a non-regional
variety based on social
class

Refers to the purpose and
subject matter of
communication
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Question Numnber : 137 Question Id : 6463509866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tefl-1 # feu uef =1 gehi-11 # fog mei 3 gaita iy ;
-1 11

(2) THH-E O 9 sfome fHf aww g oW
feg & TIY HUY0T S T
e Al 3

) WiE-83 Gy ¥ afmm I mem § § s
a1 A a1 ffdd v &
Yo g &

(c) WiEa-gN iy @ sifigma wmfee @i-snnfea
T MY-TeR § &

(d) WifEd-wRA0r (v) ¥ 3iw wd fiwg o |
sifimmg 2

w8 fRreea gie:

1. (@-@) ®)-Gi); (o-Gi); (d)y-Gv)

2. (@)Gi); (0)-0); ()-Gv); (d)-Gii)

3. (@-Gv); (oG, (o) (d)-GD)

4. (@rG); ®)XGv); (i) @0

Options :

64635038845, 1
64635035844. 2
64635035845. 3
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64635035846, 4

Question Number : 138 Question Id : 6463509867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion I: A variety of language consists of a set of linguistic items with similar
social distribution.

Asseruon II : The defimition given above dogs not, for example, consider London
English and English of football commentaries as varieties,

Select the correct option :
1. Tistrue and II 15 faise
2. Tisfalse and II is true
3. BothlIand II and false
4. DBothI and II are true
Options :
64635038847, 1
64635038848 2
64635038849, 3
64635038850, 4

Question Number : 138 Question Id : 6463509867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
dfieA 1 ol v-UeR § 2rivmrg wem grAifores faarw ardt wiftes wel & w=g

|2

Ay I1 - T afene, Iarevond, daw 3 2ol vd peata det @A) 2 ish
&1 &l @il

W fwsa 9T :

1. IgfigaRIITEa R
2. 1 TeaRoiRIIGE 2
3. eFfIeiRIIwea &

4. IIARITEE
Options :
646350338847. 1
64635033848. 2
64635033848. 3
64635033850. 4

Question Number : 139 Question Id ; 6463509868 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Assertion I: A speech community may be defined by the whole set of people who
communicate with each other only directly and not indirectly.

Assertion IT : A speech community is characterized by regular and frequent interaction
by means of a share body of verbal signs and set off from similar
aggregates by significant differences in language use.

Select the correct option :
1. Iistrue and II is false

2. lis false and I is true

3. BothIand II and false
4. BothlIand II are true

Options :
64635023851, 1

646350358852. 2
646350358853. 3
64635035554, 4

Question Number : 139 Question Id : 6463509868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

st 1 530 o oen + widl % o9 gy o o s ssa 29
%ﬁ%ﬁmm&;ﬂﬁﬁmmﬁfl &

SHAFHYTII WwwﬁmﬂwﬁﬁﬁaqﬁﬁWM%@%
are fagl &1 S § S0 g1 @ ok THH GRipdl § e anuR §
HewqU SfeRl G SCRT Bl &

g fen g
1. ITSBARII a8
2. I TOERARIIEAR
3. SHIARII Mo ¥

4. FAIARIWEE
Options :
64635033851. 1
646350338852 2
646350338853. 3
64635038854. 4

Question Number : 140 Question Id : 6463509869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List—T with List—I1 -

@
(b
(©)

(@

List-=I
Language Universals )
Branching Direction Theory (i)

Head Marking and Dependent  (iif)
Marking

Noun Phrase Accessibility (iv)
Hierarchy (NPAH)

Select the corract option !

1.

2

3
4

Options :

(@=(11); (0)~1); (e)—(nz); (d)-(1v)
(@)-(); (0){(iv); (e)-(1); (d)-(iid)
(@HD; (0)(i); (-1 (d)-(v)
(@—(m); (0)-01); (- (d)-(v)

646350353855. 1
646350358856. 2
64635033857. 3
646350338538. 4

List=11
Vennemann
Gresnberg
Keenan Comrie

Mathew Drver

prepp
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Question Number : 140 Question Id : 6463509869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Te-1 3§11 R @i

(@)
®)
©
(d)

-1
YT ARfHE
e e i
z-mfe ik snfim R

YW UG fErEal  SiumH
(@7, 9. T. 79)

e e =1 g 210 -

1
2.
3
4.

Options :

@(ii); ()1 (e)-GiL); (d)y-Gv)
@), ®©)x-Gv); () (d)ii)
(a)-(1); (b)), (i); (d)-Gv)
(@)Giit); (b)-ii); ()-G); (d)y-Gv)

64635033855. 1
64635035856. 2
64635033857. 3
6463503538538. 4

-1
@
@) e
(i) s
@) P FER

Question Number : 141 Question Id : 6463509870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Assertion I: Typologists such as Schiegel and Humboldt could predict as early as in

1800s that languages do have an abstract organic unity.

Assertion 11 Humboldtian claim that differences among languages reflected basic
difference in the mental iife of various speech communities can still be
useful to modem linguistics.

Select the correct option :
Only I is true and II is false

1

2, Onlylis falsz and 11 s true

3. DBothI and IT and true

4. BothI and II are false
Options :
6463503885%9. 1
646350238860. 2
64635038861, 3
64635038862, 4

Question Number : 141 Question Id : 6463509870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YU [ FEU-AWHS o8 TS 9 FHEIES 4 1800 § & ag gam & ymrsd §
YIAS g4l Ul 2idl 2l

HHSYTIL: THieg & ad foo ymarsil # fimar ffis yen s9el & Anfe vied d
ﬁ?ﬁﬁgﬁﬁﬂfﬁaﬂﬂaﬁaﬁaﬂgﬁawﬁaﬁﬁm&nﬂmmwm
Feal gl

ot Reed o 99+ Sty
1. Fow IR ERIITaa

2. Hawl Ta AR TER

3. ISRIIEH w8 &

4. IRUIETTEE
Options :

64635033859. 1
64635033860. 2
64635035861. 3
646350358062, 4

Question Number : 142 Question Id : 6463509871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The so called ‘basic/default word order’ of a language can be determined by
(2) pattern congruity
(b) frequency of occurrénce
(c) markedness principle
(d) pragmaticaily neutral context
Select the correct option :
1 Only (a) and (b) are correct
2. Only (b), (c) and (d) are correct
3. All the above are correct
4

All the ahove are Incorrect

Options :
64635038863, 1
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64635033864, 2

64635033865. 3
64635033866. 4

Question Number : 142 Question Id : 6463509871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HIST F quieida Ho/afand Te-5e #i feas gri Hyifva e s 22

() SfREE R

®) T H

© Rl

@) ndfrm S geu g

w2 e o1 waT S -
1. 5 (a) SR (b) W &
2. W (), () M (@) T E

3. swwahwdg
4.  SoiE wht e §
Options :

64E350388€63. 1
64635035864. 2
64635033865. 3
64635035066, 4

Question Number : 143 Question Id : 6463509872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In manvy South Asian languages, a subject mav not be marked as a nominative case
{covertiovert), and mn such context, the subject of the séntence 15 lmown as

(a) non-nominative subject
(b) experiencer subject
(c) dative subject
(d) oblique subject
Select the correct option :
1.  Only (2) and (b) are correct
2. Only (¢) and (d) are correct
3. Only (2), (b) and (c) are correct
4.  All the above are correct
Options :
64635038867, 1
64635038868, 2

6463503386%9. 3
64635035870. 4

Question Number : 143 Question Id : 6463509872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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e gitu R viaisl # @l &) sdiere GwHE/way) R 38 fea o aea 21 18

s frm el s st o &2
() R-maiERs Sdl
(b)  SrIHE @Al
© TEREHETE
(d) fordwa

el feea &1 uaq Sifey

1. FEa () AR @) w ¥
Fa (c) AR () TAE
3. @@ (a), (b) R (c) WA E
4. Soden ot v ¥

Options :
64635038867, 1

646350358638. 2
64635033869. 3
64635035570. 4

b

Question Number : 144 Question Id : 6463509873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Assertion I: In typology. morphological typology classifies languages into different
types on the basis of how much and what kind of morphemes (free,
bound, portmanteau) are used in them.

Assertion I1 : Despite the best efforts huge corpus and rigorous training, typology can’t
classify languages into discrete morphological type.

Select the correct option
1. Iistrue and Il is false
2. IistrueandIis false
3. BothIandII are false

4. Both I and II are true

Options :
64635038671, 1

646350338872. 2
B4E35038872. 3
646350358574, 4

Question Number : 144 Question Id ; 6463509873 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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siffmu 1: we-Rm # w9 sivarers sReg-fawm el @i it swedl # 59 oiuR
R Fiifga wdl & & 97 far iR f6d ieR & ©fm (0%, 3% 995 91

HTHSYIT

5

e b

Options :

T giat 2l

HataH wars, e wrel Sl SoR ARkie & e weu- R Hresd i

QU T Uferdice Y H Siiigd T8l % 9l 3l
We faerey &1 999 S ;

IFE AR I Toa g
II T2 oielmaad
I 3R 11 1T 8
I 3R 1L EHI |8l &

646350338871. 1
646350338872, 2
64635033873. 3
64635035874. 4
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Question Number : 145 Question Id : 6463509874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List-I with List-11 ;

Ligt-I
() Broca's aphasia )
(b) Wernicke's aphasia (i1)
(¢) Dyslexia (iif)
(d) Agrammatism (iv)

Select the corract option !

1)
2.
3.
4,

Options :

(@)(ii); (B)~(iv); (e)=(iii); (d)~(i)
(@)=(ii1); (0)—(iv); ()=(it); (d)=(i)
(@) () (@iil); (D—iv)
(@—); () () (A1)

64635033875. 1
64635033876. 2
64635033877. 3
6463503538738. 4

List-II
Predominant grammatical
impairment
Disability affecting
reading and writing

Fragmentary nature of
speech production

Severe loss of speech
understanding

Question Number : 145 Question Id : 6463509874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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-1 @1 -1 gRia Fifor ;
-1 -1
(a) I W1 HINTaR @ IS TR e
(b) T S HETHE @) ofdmgal, foed 9eA R
TEH oM B Bl
(c) s+ (i) T IT PGS [E
@ e ferR (iv) T S9E 3 AT s
et foeea &1 9u4 @i ;

Lo @) G)Gv); (-G (d-@)
2. () ©Gv) (-G (-0
3. @0 Gyii) ()-Gi) (d)-Giv)
4 @i, ©)Gv); (©-@; (d)-i)

Options :

64635033875. 1

646350338876. 2

64635033877. 3
6463503538738. 4

Question Number : 146 Question Id : 6463509875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List-I with List-II :

List-I Ligt-II
(a) Total physical response (1) Charles A Curran
method
(b) The silent way (i) Georgl Lozanov
(¢) Community language (i) Caleb Gattegno
leaming
{d) Suggestopedia (iv) James Asher

Select the correct option :
Lo (@) (0)-(v); (c)-(i); (d)iid)
2. (@)=(i); (b)=(1); (c)=(iii); (d)~(iv)
3. (@-Gv); (o)iii); (o)D) (d)-(i)
4. (@)=(iii); (b)=(ii); ()=(iv); (d)-(1)
Options :
64635038873. 1
64E35038880. 2
64635038881. 3
64635038832 4

Question Number : 146 Question Id : 6463509875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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get-1 1 -1 Rt sifomg
-1 Tei-11
() T arfass srgfeman fafy @ TP
&) e foft @ wReed) Gy il dremie
(©) STHCIYS T HPH Gi) woE e
(@) werEnmts Gv) R URR
T oo @1 94U S
L @@ ®v); (o) (@i
2. @) b0 (i) (d-Gv)
3. @) () (- (@)
4. @G b)X0i); (-v): (d)r-{)
Options :

6463550338879. 1
B4E35028880. 2
646350353881. 3
64635035882, 4
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Question Number : 147 Question Id ; 6463509876 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
Match List-I with Lise-1I :

(@

®

(©

(@

List=I
Simplification (i)
Owvergeneralization (i)
Rastrucruring (i)
Unshaped behaviour (iv)

Select the correct option :

1.
2!
-
4,

Options :

(@=(111); (b)~(12); ()=(v); (d)~(1)
(@)~(1); (@)(iiD); (e)-(i1); (d)-{1v)
@-iv); (o)1) (e)-(iii); (d)-(ii)
(@); (i) (-0 (@)

64655035883. 1
64E35025884. 2
64635033885. 3
64635035056. 4

List=II

Refers to the process of saif-
orgamization of grammatical
imowledge represantations

Refers to the process that is
called upon when message must
be conveyed with little language

Refers 10 the fact that progress
does not always translate into
accuracy of expressions

Refers to the application of a
form or muie not only to contexts
where it applies but also to other

contexts where it does not apply

Question Number : 147 Question Id ; 6463509876 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

efi-1 & -1 gt @i
-1 w1
() Wi () UB WEMe FH e ¥ WE-
T3 WA 9§ Wi B
o) iy iR (i) TE SU weW ¥ wEiim & fust
TSl GF GSal € Wg S HiET
FRTWRasa s
(c) YT (i) UEIWGW W Ul fEsma s
Foaey Weg ftenfa # wdiedr
5l il §
(d) Fuer TR ivv s mfoes 3
Wil T8 2 9% Faa sy 9
deH # 3 sl sra deHi W 2
W8l 78 WIEd ol aldl 8
a1 [eea &1 9 DU -

L (i) GG (©-v): (d-0)
2. @@k G, (-G d)-Gv)
3. @G (oD (eGib) (d)-Gi)
4. @) ®)-Gv); (-G (dr-am)

Options :

64635038833, 1
646350238884, 2
64635038885, 3

64E3503588€6. 4

Question Number : 148 Question Id : 6463509877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List—I wath List-11

List-1
(a) Grammatical competence (1)

(b) Sociolinguistic (if)
competence

(c) Discourse competence (11t)

(d) Strategic competence (V)

Select the correct option :
1L @), (0)—(ui); (e); (D)

2 () (B)GV): (O—(): (@)(iii)
3. (@HAiD); (B)-(1); ()~(iv); (D)D)
4. (@i (©)=(i); (©~(); (D~iv)
Options :

64635033887. 1
6463503538838. 2
64635035889. 3
646350355830. 4

List-I1

refers to interpretation of
mdividual message elements in
terms of their inter-
connectedness and how
meaning 35 represented 1
relation to the entire text

refers to coping strategies that
communicators employ 10
initiate, terminate, maintan,
repair and redirect
communication

refers to an understanding to
social context in  which
communication takes place,
including role relationships, the
shared information of the
participants and the common
purpose of their intéraction

refers to Chomskyan linguistic
competence and it is the
domain of grammatical and

fexical capacity
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Question Number : 148 Question Id : 6463509877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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-1 E-1I
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it 2
(b) WIS W FT  Gi) 9% S WHItdl & A0 § §eiva §
forg Siye U9 MY F9, WA
B, S0 @4, AOHd o SR
T:fEfRE oo s R s ¥
() sifaq ama (i) gE e dey F g9 A s 2
fRres Sowor g 81 59 et Hay,
wiawnfirdt =1 9rn SReR] HR 91
sfra & Svafag wEies e &
(d) UM eman Gv) U 9IRS S U gmar § SEfia 8
I T FERE R =iy
P eRilca g e
et frmey =1 9= Fifm -

L (@) ®)Gid: (-6 (d)-Gi)
2. (@ ®)v); (O-G): (d)-Gii)
3. (@) (0)D: ()iv); (D)D)
4, (rGi); )G); (-G); (d-Gv)

Options :

64635038837. 1

64635038838, 2

64635035889. 3
64635035830. 4

Question Nuinber : 149 Question Id : 6463509878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion I: Fossilization refers to the fact that second language leamers, unlike first

language leamers, sometimes seem unable to get rid of non-native-like
structures in their second language despite abundant linguistic input over
many years.

Assertion IT : In the context of leaming being viewed as the movement from controlled
to automatic processing, fossilization is seen to arise as a result of a

controlled process becoming antomatic prematurely before it is native
like,

Select the comrect option :
1. lisfalseand Ilis true
2. lisuue and I is false
3. BothIand Il are false
4. BothI and II are true

Options :
64635038891, 1

646350358892 2
646350358393. 3
64635035894. 4
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Question Nuinber : 149 Question Id : 6463509878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AHNFYE 1 SrlyEs &1 ot 39 0w 8 2 e e v siftrmesar € s Rafig s
stirmmat ot Svit-F &% 6t & vaia wrdh sieF-ae & SReg soHt
ot urer H wgElt Hrar @ gax weneil § geora um # sl udia 9 €

HitpuA Il : i @ Rt @ <eRa v d 9ac & SU H 58 W4 & ded &
e vEn & 3me ymL 92N g 9 9d @ wuiied g9 & waaey

gty I B Bl
el fwe =1 3o P
. IO ReRIIEER
2. I SEeSRIITEG @
3. 1 3RIIEM w8
4. IARUSH G

Options :
646350358691. 1

646350358892, 2
646350358393. 3
64635035894. 4

Question Number : 150 Question Id : 6463509879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Assertion I: Scientific and techmical dictionaries provide sciemtific and technical
lexical entries,

Assertion 11 : Scientific and technical dictionaries provide detaled grammatical
information.

Selact the corract option :
1. BothI andII are e
2. Tistrue and IT is false
3. Tisfalse and I is true
4.  BothlI and II are false
Options :
64635038895, 1
64635038896, 2
64635038897, 3
64635038898, 4

Question Number : 150 Question Id : 6463509879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
ey 1: AWM iR go-ite! SGe AW AR ae-ie! SIENG Jipal B 2l

st I : 3w iR aa-ile! Tecaid WTHw @ R TSRl ¥5H Sd ol

T2 e &1 9= S
1. IdRIaS
2, 1 w@gARII T ®

3. I TGt SRIIEER
4, leRIIEI TR E

Options :
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646350258895, 1

646350353836. 2
64635033837. 3
6463503583938. 4



